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AR R EUERBARIEREE,T /9?7

Which is not a desired behavior for Agile teams?

A) RfEHESTRERSE
Favoring progress over perfection

B) TiXT ol ERFHARISIN

Obsessing over finishing what they start

C) smZtth. /IR

Planning frequently in small bursts

D) =R RETEE

Preferring complete products over speed

2/30
Eleni2—R&3H, XISIEIFERE, FHAMSBRARIE. wAfEae, JrIEs
PRI 3E 7 BESEINBE.

HABE T —NARE, XANMARAIZA BT A ERIER D B :
FN LA FFIZABEK A ?
XNARGE R T iR BRI ER?

Eleni is a manager. She is very interested in Agile because the world of business moves fast
these days and is asking herself what should change from the current way of working to
become Agile.

She comes across a question that should help change part of the business’ mindset:
What should we constantly aspire to as we do the work?
Which element of the Agile mindset does this question address?

A) l:llu\
Beliefs

B) %
Choices

O R

Principles

D) fifE

Values
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REPAETEIT R TEMERIER. E/URERTRES, SIDEEMERKE, thilam:

-FABASERR TR RIFN TAF29540%
-FTE I RISMIFIGR BRI E R IR E B R EE R
-BREEERH B A TR RERRI B A Fek

EXMMER T, EIBAANAIR) FEfraL Ut TF?

A team is frustrated about not being able to get the work done they have planned. After
some investigation and data collection during a few iterations, they find the following:

- Around 40% of the team’s actual work is unplanned
- All unplanned and short-notice requests come from upper management
- Upper management also expects planned work to get done within original time frames

In this scenario, how can the team use continuous improvement to move forward?

A)

B)

9]

D)

TieRrmEiRSS, ERITIEARN, HeILUBISHESUAREUH. A, HRALE TR LULIAIR
B, MNETUREEXYERE, SENHSERRERN.

Both the product or service and the way of working can be improved with continuous
improvement. Here, the team has found processes that can be optimized. They can now
review the processes and optimize them to fit their organization.

REREIERMREIRSS, ZReBISFFsitksis. Eit, BEARIENTHCEERN R, Xt
R T BT RIA TIF_ERORTIR], FESRALIETRISN (.

Only the product or service the team creates can be improved with continuous improvement.
Thus, the team must work on the product they have created. This reduces the time they spend
on planned work in favor of unplanned work.

REERRITIEST, Fre@idirasitkain. Eit, tIazrnResitilsr TIFRER, FHiRE
SRR, XERATLABBHAIE, RIERE, e mitInIfF.

Only the way of working of the team can be improved with continuous improvement.
Therefore, they should start ignoring the requests for unplanned work and set boundaries.
This frees up time to focus on the planned work, as required.

EXFER T, BBAARERI RIS, B, INIZEEFS, IL—FEMRREETIHRII
THE, XEEEHEBAE AR RELAE), LIS ETITRINIE.

In this scenario, the team cannot use continuous improvement. Instead, they should split the
team up and have half the team members focus on the unplanned work. This would free up
time for the rest of the team to focus on planned work.
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EES=RNAREGe L, HAITEFNEE. NB=5FEREE, BSTEISITT/FrYE
. REABRXNEE, BARBARE "HRERE" 19ES.

FBAERIA LA T (R, (ERRMEFTEFR=SAIEN. Eit, TIERHREBEARMNRARAR, =
AREACHY BARAT BEFTiESE .

IR E R SR CIREIRFITem. BN, DIHRIXIMERASERKEE.
AR BIARIRIERE?

During three successive daily meetings the same impediment has been identified. There is a
dependency on a third party that hinders the progress of various tasks of the team. No one
has addressed the issue, because no one is responsible for the task ‘removing
impediments’ .

The team can continue their work for now, but input from the third party will be needed
shortly. Therefore, the work may not progress as fast as planned and the goals for this
iteration may not be achieved.

The team wants to make sure that the current iteration is still finished successfully. They
also feel that they must make sure this scenario does not repeat in the future.

What is the best course of action for this team?

A) EERIECASERE, MBRERRBHNIIFI. tiINIZEEHERBIEAIHT TIFIR,
Change the scope of this iteration and remove the work item that causes the impediment.
They should refuse new work items with dependencies.

B) XIBEWKIMERI TIFIAIRIRAB R TIRIER. RK, MEXFMER FAIZEINE,

Hold the team member of the work item with dependencies accountable. In the future, they

should be stricter in this type of situations.

C) ILEAREHRIERS. T ITFIUREMIMKIRR, B=70 00 TIRMHAE.

Make someone responsible for removing impediments. New dependencies must be identified

with new work items and third parties must commit to the work.
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LarafOEricifieERRFSINGEE. —AEMMTHRENMEAE A EFE 51X,

EricRr, #iiEfSARNIZEENA— 1 BRI SRR RN ERRFIF.
Laraf#il, BRNETECHHINME, FRASGEREN, ARG REMSAZZEILEMZ .
RN, HEHEEMFA?

Lara and Eric are discussing introducing Agile in the context of their organization. They
have a disagreement on how to determine the new processes and other tactics.

Eric states that the new processes and tactics should be copied from another organization,
a direct competitor, that has already undergone a successful Agile transformation.

Lara suggests that the organization should first establish their own new values and
incorporate the Agile principles, and then base processes and tactics on that work.

Who is right and for which reason?

A) Eric, AAARENFILMBREFNFABEEREMNE.
Eric, because copying a competitor ensures that the competitor no longer has a big
advantage.
B) Eric, EUBAINAVALRRLABNERARIAIINS.
Eric, because copying a successful organization creates the largest opportunity for success.
C) Lara, EAFKEI—EME, JLULEBABTIFIERAY RSN,
Lara, because creating a set of values first allows the team to interact informally and socially.
D) Lara, EASEI—ENE, ATLBRENSRZSHIWSMNE.
Lara, because creating a set of values first ensures that the most business value is added.
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RABEEZHBEZVE ST, FMGREIRER: B—REEFR. —|BTN,. —=£H
EEM—= O EEEHEBEF.

EERECKENES T ANKR, LUENFTHIETSHHE. I8 D BIeE T B =S E,
UEMETARHNE—XE, 5INTER, FREANGRE LOIATHSESIIHE.

S AFBAIHX N SRANE A B R BEARABTEFIATE, (B BE R T RIFIERSS.
ZBRRILER BRI T RIFAYSERME?

A large doctors’ practice wants to establish medical support teams. The teams will be
cross-functional: they will have a receptionist, a physical therapist, a general practitioner,
and a psychologist working together.

Management has re-grouped their human resources to fit the new medical support teams.
They have created a team space for each team to sit together in the same area of the
building, introduced a Kanban board, and decided the team must meet every morning to
discuss progress on the tasks.

Although the team feels overwhelmed and lost by this sudden change, they keep providing
excellent care to their patients.

Is this organization demonstrating a good Agile mindset with its implementation?

A) 72, ENKEIERBENEL, FLBAARERAERIREEXT.
No, because no input from patients is asked, so not all stakeholders are represented in the
teams.

B) 72, EANEKEDECEHRAMNMBEFISTHERIMARBRFEE,
No, because the team has no way to connect the values of the practice to the implemented
tactics.

O 2 EAESETETE, BEARERMTRFAFE,
Yes, because there are Agile elements present and the team provides excellent care to the
patients.

D) 2, EAEBARILUEHECRUESIRRE, BREFMBEFR.
Yes, because this team is in control of choosing their own tasks, self-organizing and multi-
disciplinary.
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XYZRBIR—HXAERTSETEMHIERFIAAR, it EERESIE. CEOANNSIEERATH
F, EACEMT —FERTRESRGE. B, tRAN, SEETLIBESEL SRS SN A
HERAYFAEFNSC R SRR,

XYZ R B R B BRI AR AAER?

Company XYZ is a large car parts manufacturer and supplier and wants to become Agile.
The CEO feels that Agile will be beneficial for the company, as it provides a way of getting
things done faster. At the same time, he argues, Agile can reduce costs by applying the
same processes and practices across all areas of the company.

Is XYZ ready to start an Agile transition now?

A) B. EZTUENAERRREMSERZEXYZMIZEKRE B,
Yes. Applying the same processes and practices across areas is what XYZ should aim for.
B) 2. CEOFTXIF, XFiEXYZESIFRSBIEEIREENSED.
Yes. The CEO is onboard and that is all XYZ needs to be ready for its transition to Agile.
O TR, SEARNANEEXYZHNMENE, RESTIES R mAIauE.
No. The Agile way is not suited for all areas of XYZ, only for those areas working on a product.
D) ~2. CEOXIBUERIHAEAIER, ERHARAIT,

No. The CEO’s expectations of Agile are not correct, which makes it a wrong starting point.

8/30
ABCATRIITEIABL A7 BUIERE. BRI — (ARt BRIk = HE A B R E,

EHARP—HBOARGEEK, MB—HBOANILBAR, EAIISEERSITRRRRE—RE, &
BESRTESRRESHEIER.

M ARBEESX NS HEEEA?

The IT team of company ABC has made a successful transition to the Agile way of working.
One of the team members is trying to convince the marketing team to make the transition
to Agile as well.

Some marketeers are very enthusiastic, while others are hesitant, because they associate
Agile with the IT domain and they do not believe an Agile way of working will fit their team.

Why could Agile be useful for this marketing team as well?

A) FNsEENEHEENHE T EIRUEIE

Because Agile has developed special ceremonies and artifacts for marketing activities
B) ENEiERESHLMUCHESHRBAML T

Because Agile is most suitable for repetitive and technical work that can be optimized
C) EASEREIAEEFMHIIHHIHZIRE

Because Agile is a market standard specially designed for an area such as marketing
D) HENBUEEAEERIE, SMEFEMERNTUEIRM TMME

Because Agile provides value to any area that wants to generate rapid and frequent value
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SENEHEEFRE— MU OELS, BT REENSTE L, BNARSTE
SETERRER SRS TR 2R, (S T — N SRR HR.

Rz LA ZAG SR R AR —FRIXIRS ?

A company has chosen to do a small, but ambitious Agile experiment. The experiment will
not cover all the team'’s work. The team members will be regularly switching between the
Agile experiment and the current way of working. They will maintain a highly visible plan
board for the experiment.

Of which risk to the Agile experiment should the team be warned?

A) 7, BHESHEATRNE,

Misalignment. The mindset is incongruent with the tactics.
B) BRARWOAM. XFPEREERETIHIIR,

Out of sight, out of mind. This often happens to a plan board.
C) B, EBABRATREARTTAIIF.

Starving. The team members may run out of work too soon.
D) ER. At TFrseaEZRid=aYatIa,

Suffocation. The other work could overwhelm the experiment.

10/ 30
RERRRSEH TSN TIEI, (BIRST B RERA TFIEE.

XM R AERE N IR EAR SR E?

A team works on many items at the same time but sets a limit on the number of items that
an individual team member can work on at a time.

How does this practice reduce time to market and enhance quality?

A) IEAEEFTREZRNTIE, LERRIBMATR, TR SeZFE.
By allowing the team to focus on the most important work, so that finished items do not get
delayed and business or customer value is delivered swiftly

B) HAREIBARLREZIRBRSET, IIFTLISGE—IE, EEB—IE, XRIETEARRIREE TR
K&
By ensuring that when a team member gets stuck, they can abandon an item and choose
another, which ensures the team members are always busy

C) MREBAEIETES N TR, FEEBHERRINESGTHITE, ILEFREHE
By making sure the team has the time to perfect each item beyond the expected value or
definition of done, so that the customer is always delighted

D) BIEmpBIEIRMENEH, FRANAZTIESR, BrEREH - mISuH -
By spacing out the work items over an iteration, so that the team does not get overworked
and has time to think about new product improvements
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HARBRPEIEBENERAMNIS?

What are the essential parts of an Agile mindset in an organization?

A) —EXENSEEREC. 8iERE, UR—EZXAEEH
A complete set of an Agile methodology, Agile processes, and a set of Agile practices to
adopt

B) LIEFIERASH. BEMME. MERMCIHERAIXL
A culture of customer and outcome orientation, cross-team collaboration, value delivery, and
adaptation

C) RIFRUISIEFEHISIN, BOARMBREE. HENRTHA
A friendly command and control culture, where everyone is respectful to each other, collegial
and helpful

12/ 30
REBNER TEEER A, BIIREERERA=FIZTRIR,

TR BRI HA?

A team is experimenting with Agile. They have decided to use a simple plan board with
three columns.

What is the purpose of visualizing the work?

A) BEI{ER, BEIRKIRRE, BRI,
It gives insight in the flow of the work and helps identify problems to solve.
B) BEITFILEIRAR RIS NFTIE R TFIA,

It helps keep the team members committed to the work items they have chosen.
C) BERRPLERR LR, BPERR,

It shows the team which team members cause problems and which do not.
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RALRIERAHERNE L RBZERA.

XEMNFERD?
An organization forms teams based on them having the same specialty.

Is this a good idea?

A) 2, BABEGCENTIEIRES KR, ATLABBNIZRIFE.
Yes, because teams process work items from multiple sources, so the teams should be stable.
B) 2, EAFBANIZENE, ERIFREREFHRERHEXNE.,
Yes, because teams should cooperate and still be in a healthy competition to deliver the most
value.
Q) 72, AAERMEFEETHRECHIHS, MAREIENE.
No, because specialists have a tendency to focus on completing their part instead of creating
value.

D) AR, EATRRASKIHMIEENRMIIESE.

No, because speciallsts will only focus on what impacts how they are measured and rewarded.

14/ 30
HESE A ERRERRINERBEINMERE, MEAEE TR, EAKEHREE
T, IEEIHE SIS, BRNFEERRS TIEREEFIIT.

ZHEAR G RENBIE T E S Pikm?

A legal team is feeling overwhelmed by requests from different parts of the organization.
They continuously have to reprioritize work, because deadlines keep shifting. They want to
improve their way of working, but also need to keep their sense of precision in their work.

Could this team benefit from Agile ways of working?

A) g8, ENBIERE—TR4ES, (FERBE TIFERAT LR 41,

Yes, because Agile is only a mindset, which easily translates to any team or work.
B) 88, BEAT{FaIIAIEEINMERSI =,
Yes, because visualizing the work and streamlining the value chain will benefit them.

C) AEE, RAERIIFEXEETEEN, FEERABEESLE.

No, because legal work requires too much perfectionism to use Agile practices.

D) AgE, EAEERLEPKBARAR. X m.

No, because there are no developers, deliverables, or products in legal practices.

E{#E%E EXIN Agile Business Professional (ABP.CH) 13

EXIN Agile

BUSINESS
PROFESSIONAL




=%IN

15730

FIER DR EIEINR. LSRR AMLEEIE T SIS ARIEE. W, MIBES
HEPMGEEL R REI BB MESHEE L. XERESIENRY REEILEHBNAE
FRIZEERITAE.

ABIPEIBk R A?

A cat food factory has done a successful experiment with Agile. They have let the marketing
team create blogs for the website that tie in with recent events. They now wish the
marketing team to expand the Agile experiment to managing daily social media tasks as
well. This means that the Agile experiment will be expanded by asking the team to take on
a different type of work.

What is a challenge in this scenario?

A) IERFIRAES

Having people pitch in in more areas

B) RIS TARRIEE 7 #E

Keeping overview over the work

C) KESHEAHIBARIERR

Losing the connection to other teams

D) AIZHETAITIEEIRA

Setting up a new team for the work
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Bricks & MortarA Bl REEIX BMIXEER (OKR) . GIFSHMALR—F, ZAREERMEE
MEEEBR. IELRIRE, EF— M EEREEREEMLIEREESTEBFEXINER.

Bricks & Mortarkil, ¥ AERSEREEMSABINENA—RIIBFMEEES, BAANET R
ERTES—KBER (KR) (FHEEINEIFREENE.

I INAZ SR BERIERSE—?

The company Bricks & Mortar decided to give Objectives and Key Results (OKRs) a go. Like
many other organizations they often fail to achieve set objectives. They have realized that
one of the main reasons is that there is no objective way to measure outcomes associated
to the objectives set.

Bricks & Mortar found it fairly easy to translate their strategic intent and overall goals to a
set of objectives, but they are finding it extremely hard to agree on what Key Results (KRs)
should be used as a metric for each of the set objectives.

What should they do to reach an agreement quickly?

A) -ERFUTEIRABG RANELD R TIFKRATEA
-FEEMBEN, SIE—MRERIKRYIZER
-HUTEBAALR Z A& BRI = KRIA AR
- Ask input for KRs from both executive team members and other employees
- Merge all suggestions to create a comprehensive list of KRs
- Reach consensus between the executive team members on three KRs per Objective
B) -BlE—EEMARNREMAIERITIFE
(TR AR S SAE B TR
R TFE#H TITE, BEEISMEFE=TEESHKR
- Create a task force with members from throughout the organization
- Ask a single executive team member to lead the task force
- Let the task force discuss until they have three or more KRs per Objective

C) -BIBRIXEEMSTR (KPl) SARRIBHMEE, HEEEIAIKR
-FEKPI SR KRIIETFIES
~FEKRIZAZEEHUTRIARL R, A
- Match existing key performance indicators (KPIs) to the different Objectives and define new
KRs
- Rewrite the KPIs into the format and language of KRs
- Present the KRs to the executive team members for approval or ratification
D) -it—MESERRERINHITMIRNE, BEEEFRIIKR
-ERBEINERERIATEIN, B BmERES-101KR
“EHUTEIARL R A BIRERELIEE2-41KR
- Let a cross-functional team brainstorm for KRs for each Objective
- Ask the teams to review each other’s suggestions and select five to ten KRs per Objective
- Let executive team members do a final selection of two to four KRs per Objective
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BRZFRLAFIRSE, RENSIEREEMNINSATRUAIER. BROEFAE—HoN, £28%

HEFRIRR. XEREBOERETAIITIE.

HHIFR KA, HARGEERR TIFESRRIEST?

Organizations use Agile because it enables them to be responsive to changing needs. New
requirements are often identified while developing part of the solution. This means that
sometimes changes must be made to work that is already done.

When new requirements emerge, what is the best way to handle changes to work that has
already been done?

A) EHERKE, MAMEEREGNERPEIENES, UHLEFERARS, BESETRETSE

B)

9]

HIRFR

Create new tasks in the iteration backlog immediately after a requirement is identified to
prevent creating technical debt, even if there are no consequences of waiting until the next
iteration

ROICHRHHBK, BEEAMENTAEBLE, RIETRERSINESZAFERERIRR
Document new requirements adequately but deal with them after the current iteration is
complete unless there is a significant dependency between the new requirements and the
current tasks

BINVEICRIHR K, FANFOEM, LRAHESRMSGER, BMERRRSARESTFERBERR
Record new requirements in the standardized way and make them part of the backlog so they
can be prioritized appropriately, even if there are dependencies with current tasks
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Emilia2—RETEDITRHATRIEIE, WEEMIIHHSEIES I NAYERP.

BillE—RRAABIATE, (HETMHeE, BESNMGNENE SETEA. BISES
A SIEmiliafaZse, FHSLAbAEAEFFAI I,

Bill 5 FEIA R R AT gEtARIRE miliaFIPARYSER,. 1B fE, BINESSIENR. JUBRE, BillBIEIRA
XIRABUESLR RS, FRY RSB LA TR FERIEER.

Bill ARz B A AR RIMRIE?

Emilia is the manager at a data analysis software company. She has successfully introduced
Agile into her organization.

Bill is the manager of a construction company and would also like to adopt Agile. He is
trying to introduce the Agile way of working to his team. Bill wants his team to learn from
Emilia’s experiences and asks her to lead introductory workshops with his team.

Bill tells the team to copy the practices from Emilia’s team as closely as possible. The team
is left to experiment with Agile after the workshop. A few weeks later, Bill's team expresses
doubts about adopting the Agile practices. The new way of working is not giving the results
the team expected.

What should Bill have done differently?

A) BillRnZfE LB RAT, ST ERBRISERtm RN BV WA,
Bill should have created a clear definition of Done and a new set of acceptance criteria before
leaving the team to the experiment.

B) BillNIZG KA DREE/NTAEIR, AR R LA LASSHSRE S AHNE,
Bill should have decomposed large deliverables into smaller work items, whose size and
nature allow frequent value delivery.

C) BillRiZFEA—ESHIEG A TRISEESLE, MARMRIREMIliafystik.
Bill should have worked with the team to find the Agile practices that work for his company,
instead of copying Emilia’s practices.
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ABCARIEHR T8 TESZURITR. AEREAEBMEEX=HRNER, tiI=XRAER
MIMEH T ERR. SEAANMEKEHT=SRIE S8R,

SEhR b, BINENS M EBAREENAESR R (WIP) ER, ERNESEE R ERIEPATEEIARIEE
RHEERERBKIRR, XBE—Abbk.

HARIX—IRERIRIERIRTT R

Company ABC has recently started initiatives with Agile ways of working. In company ABC,
different teams often share the same resources, and they have tried to manage projects
visually using Kanban boards. The teams are not very good at keeping the current project
management software up to date.

It also proves to be challenging to find a way to provide individual teams with visual
information on their work-in-progress (WiP), while also showing the overall progress of all
teams in higher-level projects and their key dependencies.

What is the best solution to solve this problem?

A) BEEHERSNENSER, RERRDESEMINRE— N TRMNKENERER, MEAREEE
BEWER.
An overview of overall progress should be the priority. The best solution is to have an overall
Kanban board with a single swimlane for the entire organization, visible to anybody.

B) MEEFICNEMTET, ERRSTEEEMEIRE—THFIEEETE, EESENER, t
RABRNEN.
Customization of views should be the priority. The best solution is to have an electronic
project management tool for each team to manage their own Kanban board and compare
different iterations.

C) EEFSINZEMSTEN. REFBRLDEZENMENEE—1ER. WTHE=RR, REEER
REBKIRAR.
Managing team performance should be the priority. The best solution is to have a Kanban
board for each team. For shared resources, the resource owner is responsible for managing
dependencies.

D) RFHERFEMNIZEMNSTEM. RERRDEEENENNEMNEE— N mKENER, BERBIMNE
BRIRREIERR.
Proper use of shared resources should be the priority. The best solution is to have a Kanban
board with swimlanes for each iteration and team to help identify and manage resource
dependencies.

E{#E%E EXIN Agile Business Professional (ABP.CH) 18

EXIN Agile

BUSINESS
PROFESSIONAL




=%IN

20/ 30
ZTEEAIAR, FEMSSRASEERT 7 —L8E. 2B\ — B ERMENE, NSAERR
BRI EFFL. INEARNEEBHZFINNLZER— MAEENMSEEML.

FRMSBEEN A —EAUEHRIRE. G B IMRRISNITIE, Mt itigaitit

MNE=L.
TNREASWRLERHA?

After a short experiment, a team expresses some doubts about adopting Agile. The team
successfully followed their old processes, but now struggles in unfamiliar territory. Their
natural reaction is to reject the change as a failure or a bad idea.

The team views Agile as a set of prescriptive processes. They do not feel the freedom to do
the work the way they used to, and the new way does not feel productive.

What should a next team meeting pay attention to?

A) NBEBAFIEE IR -SE A

Creating a customized Waterfall-Agile approach for the team

B) ILEIBAIRARSE R — M SEEAN RS T

Making the team understand Agile as a cultural practice and a mindset

C) AARRISHEEREREIELR

Restarting the Agile experiment with a different Agile framework

21/ 30
RABEEBITSSIEUEHE, fINSIETF—RNEEHIIXXER.

HABBR X E A IIRERE?

In any Agile adoption, there are many things that can go wrong. An example is cultural drift
after some time of working Agile.

Which is the best approach to avoid pitfalls like cultural drift?

A) EihE. RN, {TAMBEREMIE—ERINL

Establish a coherent culture around values, principles, behaviors, and self-organized teams
B) IZEHIHDBIETE BRItz EASRESEEARE

Follow the current best practices and standards that are available in the market by the book
C) IBEXEIUATIERNIEE, TEXULLHE

Take the practices that are working for a similar company and implement them the same way
D) B MEBAIKEARHITIE)I, TR AELEEE

Train key people from each of the teams to implement Agile exactly as they have learnt
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—RKENEFPRESHVNATIEEFE—ESTEN, EisiEis.

ZABERXUHNEZFHEE, MIISREEFEERED TIFETJRSMEER. MIFEEEK
FEPRRIR, DMRIFRIRAVERERAR. AFEE, S8Rl ARNIZEHRECMAAF040
A1,

AT SRR, BREIR, EEEARS, BIEEEEAREESE.
AT RURESXRAE]?

A small company specialized in customized surfing gear is developing a set of operating
principles to start an Agile experiment.

The company cares most about customer satisfaction and realizes customers may change
their mind after seeing part of the work. They want to receive customer feedback often to
keep the cost of change low. The company strongly believes that trained professionals
should have the freedom to determine what to do first and how to do it.

Since the company is small, resources are limited and there are only a few managers. Each
of them manages multiple teams.

Which set of operating principles fits this company best?

A) ERAEESEFR—RINESZIE, BEESHTIFRERMAALNES. MIIfEUEERK, LUREE
;EO
The team frequently and diligently checks their work with the customer, even if that leads to
delays and higher costs. They work in long iterations to maintain focus.

B) ERA/RRESE CHMEARE, BESMEREFIRIR. BAATHZUEFRTIE, LISSIiXfhRIR.
The team must be able to make all decisions themselves but will invite feedback from the
customer. The team works in small increments, to allow for this feedback.

C) EMREEEIERE(NZATEAERMITIE. ANEERIK, JUE—RIERHTEsRE T
1E.

The team will only deliver work after extensive approval by the managers. The team works in
long iterations that allow for much work to be done inside a single iteration.

D) FBARIEEFIRENRKBREARIIE, LIBRRERE, ERRAEEMNERERNEREER.

The team works based on a set list of requirements by the customer to keep costs low. The
results are only presented to the customer at the end of each iteration.
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A AN ERIEEERAMREE?

Why is collaboration important for an Agile team?

A) EHSIER\NRHEZSRSEMMERT S AER
Because an Agile team consists of social people who will easily collaborate with their
coworkers

B) EAMERARIERAIHERTEN, AREFAITIENY
Because collaboration creates joint ownership over the results and better working agreements

C) HENHEHEREBRLET ABR

Because collaboration ensures that the team objectives take priority over individual objectives

D) EASAMMETEREN TR, AILAERIGRE

Because several people collaborating on a smgle work item leads to results faster

24/ 30
ZEBRANBEIELERUIAR T JINSUELBN, EHEIAKNONEE, i1 —EEEANTIE. EEEBA
BEESERHANNERI, MMEREFLEAMNREEINTF.

HAREESEINEIAIRERE?

Company ZEBRA has effectively formed several Agile teams that have been working as a
team for quite some time now. The management team wants to measure how the teams
are doing, so they can give extra support to the teams that are struggling the most.

Which is the best approach to measuring the teams’ performance?

A) IHRIEPEIERNEIE. SHFNREBSER LR, RREKREAHIESH T
Ask the manager to assess how they are doing on metrics such as teamwork, support, and fun,
then ask the team for an improvement plan

B) 2VH\ZERMRES, REER, R(HMMENEFHEEFERRERELN
Create a healthy competition between teams, rewarding the best teams on metrics such as
velocity, delivered value or customer satisfaction

C) Rigigtr, ENSIESERENKAER, E2BEEMFMEAAITH
Ignore metrics, because they are not recommended within an Agile approach and instead
influence the teams’ behavior through interaction

D) AR—REEERIEESIN, LB MENBEIITHEMIIEERE. FIESFEn LARN
Organize a team health-check session where each team self-assesses how they are doing on
metrics such as speed, learning or mission
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SEEEANIZAN I & T R RERINME?

How should Agile teams focus on a single outcome of value?

A) 1REFAMRREESIN

By always working on what is most important
B) &R ERIRSTIATEAALR

By choosing the single outcome that can be achieved fastest
C) ERIUTEMRIESINF

By following the task sequence that has worked so far

26/ 30
REDHBREB TR ASEETIEE—NEUR A D EARREENEIR. TENAT, 788
KEREREBRFAT ET BRI, XEBRIIASEETEER MERTRIFFRIN—XRE,

ERAEENRFIBRT, REAEMIRIERIA{TEE?

Only few organizations can initially afford to permanently assign resources with different
skills to an Agile initiative or even an iteration. In smaller companies, it may never be
possible to get resources to concentrate on single-piece-flow work. This is often cited as a
reason why Agile cannot work in a certain organization.

Is there a feasible manner to launch a pilot project, even without dedicated resources?

A) 2. SIE—EFIIEEN, LLENBREI T LURZITEMES, EEREENEEF RS,
Yes. Create a team and an iteration to work on. Allow the team to work on their tasks
independently when they have time but ensure that the team meets every week to do a
stand-up meeting.

B) 2. BRETH—LAEE, 1LEIREEAMESSLEETIENRERN, #TRER, FEXREEN, ~ME
ZHMFEKAIRN.

Yes. Schedule blocks of time every week in which cross-functional teams can work on an
iteration while continuing their regular work. These blocks of time must be protected from
other demands.

C) 2. EKEPRIFRIARER, ¥ KREAIMR, (RIERBAIH. FraEEBemstEEFKFaUME, LA
BNEAFRNAINMESZ (S .
Yes. Select part-time members of the team and expand the size of the team to ensure enough
output. All iterations must deliver a similar level of value to create predictable value delivery.
D) 72, 8MERELESEEINRIR, XEIJLREESRRE (WIP) , UAIIFER. RALRREEM
FiX—m, RFAEXASETE.
No. Resources should be dedicated to at least an iteration, so work-in-progress (WiP) can be
limited and flow can be optimized. If an organization cannot do this, it is best not to use Agile
methods.
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(MRS, FFEESUAECRITA, FREREEN. IINSITaEELRER Mt
AYLBLRRISIAL.

BRFMS B RRRE B PA VR SHIRS?

A servant leader must keep growing and continuously improve their behavior to stay
effective. Their words and actions will affect the culture of the organization they work in,
whether intended or not.

Which characteristic facilitates a servant leader’s growth most?

A) M, EAFHSEEREE—MEKATE

Patience, because a good Agile transformation is a long process
B) &, RN MANSIERESIEIINE

Respect, because the servant leader should follow Agile values
C) B, RABEEETHEITA

Self-awareness, because introspection helps changing behavior

D) &M, EMNMANRSNERECHHS
Transparency, because a servant leader should show their progress
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REBAEES DRI T IR TR RS EK,

HARMER S ERIRIETTIE?

A team struggles with emergency requests that take priority over planned work.

What is the best way to deal with emergency requests?

A)

B)

0

D)

FIE—MIRESRR, RESFHENENESER, LRI ETRNTELTEH8E, XEFEFRIEBAAR
T2 I,

Define a list of criteria and accept only those emergency requests that fit the criteria. Allow
the team to economize on planned work to make capacity. This ensures the team does not
need to work overtime.

IERE R FEENEE RN ESREE, RMBERESMARNTIE, ERTIHREEIRFENN
Fl, XERIERIER N\ THIZAIRIIE.

Have a senior team member or manager check the urgency of the request and only deal with
truly high priority jobs, the rest go into the queue as normal. This ensures a speedy time to
market.

BFIATREEERST=RE, MNATEATE. XHERAAEI B RBAEINEE RS, ASHREIAE
go

Set aside some capacity on the team that can be used for emergency work. This ensures that
the project keeps moving forward at the agreed pace, while also fulfilling the needs of the
business.

FAARATINIER A E R T ERK, LUSRRARNRE. XFRRIE 7 EIAER R RS ERIT IR
TE, NARERE.

Spend a limited amount of overtime on emergency requests, to fulfill the needs of the
organization. This ensures time for the team to spend on both emergency requests and
planned work, without losing quality.
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CBARBERATHIELNR. EEFINSESZ2—IEHE 7 CBARTIRINE. ESHLIR.

FBMRSZ TitHIAR, INAERERAE. B, MIIEERILES DR 7 /N4,

NERBBEHT—MARBR, TESEMEFRTHF—HESHIME. EHntRs—HHESAY
TiEd, BAFFRREIGLRE, MIEREESEEEURSCEFRL(ES LFED,

BN TIERRS, BRMNZEE El—NEkEERE?

CBA Company is working on their first Agile experiment. The designated team has
determined CBA Company’s values, beliefs, and constraints, together with the board.

The team has set up a plan board and feels that it is working well. They have also broken
down the first few tasks into small deliverables.

They have compiled a list of outcomes and have started to work on their first tasks very
enthusiastically. As they start working on the first tasks, the team starts to feel a bit out of
control. They cannot agree on which tasks are most important and should happen first.

In setting up their first workflow, which question should the team ask itself to regain
control?

A) T/EmAILAZIN?
How small can the work items be made?
B) A& T{EaIiit?
How will the work be visualized?
C) IT{EFNBMIZEWPLE R IHIR?
Which feedback loops should there be for work content?

D) MfEEEMRBR, WHEE?

Who will manage the list of outcomes, and how?
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SIEEERRIRIL A, TR SRR TIERI KRR ER.

AFA?

In the first few months after a transition to Agile, visualization is a key element in helping
new teams understand the new workflows.

Why is that?

A) T ERNRRASERHIRE, XBETRERT.
Visualization is intended to show the new processes in pictograms, which helps to follow the
steps.
B) RAIAMECATLARM, HBENCEMITIFIYBRERRIFTIE.
Visualization lifts spirits and helps people to remember mantras used to meditate on when
doing work.
C) ITMHERZER LIFR AR NI TUHT,
Visualization makes it easier to see if the work flows the way the new processes intend it to.
D) FIMCERBLERARSEET B, HEIUIEMIINITIFSE.
Visualization shows which team members are behind on their targets and helps correcting
their work ethics.
E) SESERESRITMETREARIEA— BRI TR,
Visualization using pictures and posters helps remind people of how they should interact as a
team.
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AR R EUERBARIEREE,T /9?7

Which is not a desired behavior for Agile teams?

A)

B)

0

D)

A)

B)

9]

D)

EHEETRERSE

Favoring progress over perfection

I TEAREEFIAINEIR

Obsessing over finishing what they start
SMEND, /NI

Planning frequently in small bursts
SRR e T EE

Preferring complete products over speed

HiR, MEEEETRERSEEUEHRIEIETA.

Incorrect. Favoring progress over perfection is a desired behavior for Agile teams.

iR, BT olCERRSEIESIERARYHAEIT .

Incorrect. Obsessing over finishing what is started is a desired behavior for Agile teams.
HiR, S, IR R SRR RIHREE T,

Incorrect. Planning frequently in small bursts is a desired behavior for Agile teams.

IEff8, Sohir - ms R e 2RidE), FTAMEIREAIRIRIA, Bt mAstimEs P HXkalssBir. 1t
Hb, XFRTAESTUENXSBUAINAES. (3Ek: A, $25)

Correct. Completing products takes time at the expense of a short feedback loop, thus
products do not meet customer needs or business objectives. In addition, this way of working
makes responding to change more costly. (Literature: A, Chapter 2)
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Eleni2—R &, XISIEIFERE, FANSBRARIE. wAtaae, SIS
RrfrIe3e 7 BESCIBUE.

HABE T —MEIRR, IXAMERERLZ A B T A EIRIER D A :
FENTE LA FFIZABEK A ?
NS R T IR BRI ER?

Eleni is a manager. She is very interested in Agile because the world of business moves fast
these days and is asking herself what should change from the current way of working to
become Agile.

She comes across a question that should help change part of the business” mindset:
What should we constantly aspire to as we do the work?
Which element of the Agile mindset does this question address?

A) {nlu\
Beliefs

B) %&#E
Choices

C) =
Principles
D) #iE

Values

A) iR, FEEENITA. B, TEURITFEEFHESRR. E8RTFTNMENSSMOERME. 8D
HRIRERHA? " XNEESSISHATRNEE.
Incorrect. Beliefs are fundamental assumptions about individuals, teams, the work, and the
work’s customer. Beliefs give values context and validity. The question ‘What are our
assumptions?’ would lead to the business’ beliefs.

B) &ix. IEEARMERHENER. ESMINMEESRNIAERE.
Incorrect. Choices are not an element of the Agile mindset. Beliefs and values guide the choice
of principles.

O iR, FUAESIETENER. SIBSRESEAMFEAITHRES, >SS L
FERNPU TR T A FE T E IS S,
Incorrect. Principles are not an element of the Agile mindset. They are inspired by and
supportive of the Agile Manifesto and are guiding practices that support teams in
implementing and executing with agility the production of software development and much
more.

D) IEff. XNMEREALSSIHABNMERNER: HARATENER. MENMAAT BRI, £z
F. (X#k: A, 5828)
Correct. This is one of the questions which elicit an articulation of the business’ values: what
is important to the business. The values should be expanded beyond the people to the
deliverable, the production, and the customers. (Literature: A, Chapter 2)
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REPAETEIT R TEMERIER. E/URERTRES, SIDEEMERKE, thilam:

-FABASERR TR RIFN TAF29540%
-FTE I RISMIFIGR BRI E R IR E B R EE R
-BREEERH B A TR RERRI B A Fek

EXMMER T, EIBAANAIR) FEfraL Ut TF?

A team is frustrated about not being able to get the work done they have planned. After
some investigation and data collection during a few iterations, they find the following:

- Around 40% of the team’s actual work is unplanned
- All unplanned and short-notice requests come from upper management
- Upper management also expects planned work to get done within original time frames

In this scenario, how can the team use continuous improvement to move forward?

A) FTCEFmEiRSS, RRETFA, HaILUBSIFERukStH, A0+, BRI T RILMAadR
B, MNETUREEXYERE, SENHSERRERN.
Both the product or service and the way of working can be improved with continuous
improvement. Here, the team has found processes that can be optimized. They can now
review the processes and optimize them to fit their organization.

B) REE\ENIERMEIRSS, A REBIFFEsUAkEtA. B, FARIENTH CEER R, Xt
R T BT RIA TIF_ERORTIR], FESRALIETRISN (.
Only the product or service the team creates can be improved with continuous improvement.
Thus, the team must work on the product they have created. This reduces the time they spend
on planned work in favor of unplanned work.

C) RBEBANIIFAIN, ZRSEdRresuetRsvdt. Fit, MMz sbTIEREX, FiE
SRR, XERATLABBHAIE, RIERE, e mitInIfF.
Only the way of working of the team can be improved with continuous improvement.
Therefore, they should start ignoring the requests for unplanned work and set boundaries.
This frees up time to focus on the planned work, as required.

D) EXMER T, HBAARREFIRREEUE. Bk, MWIMZEEMNFSD, IE—FRERREET IS
THE, XEEEHEBAE AR RELAE), LIS ETITRINIE.
In this scenario, the team cannot use continuous improvement. Instead, they should split the
team up and have half the team members focus on the unplanned work. This would free up
time for the rest of the team to focus on planned work.

BEAR , EF-X
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A) IEHy. BIRAROAEITRISNTIERRE. BESERERERERFISM, @IEK, FERAITIR
TArRI—8ER5, ERETEITRIFTREERSE), LUENITRISNIIFE, MMHX—EE, FEXEmERLL
PR RS, EPEETFLIANR AR SRAT - mEBRSS. (@t: A, 510F)
Correct. The team should investigate the process for unplanned work. This process can be
optimized by setting limits with upper management, streamlining the requests so that they
become part of the planned work, or setting aside time in the planning to accommodate for
the amount of unplanned work. Reviewing these processes can be part of continuous
improvement, which includes the way of working as well as the product or service the team
works on. (Literature: A, Chapter 10)

B) iR, BEITMRIERMAER, BAHKIRIEARWEEFEMNME, ok, FEOHBRaET
Rz, BEERA RS mEiRSS.
Incorrect. Ignoring the planned work is a bad idea, since this adds value for the business or
the customer. In addition, continuous improvement includes both the way of working and the
product or service the team works on.

O) iR, WRITKIINTIENRIWEZFFEINNE, BBARKITRISNTERMAER. b, FEsuHiRE
BEIERE, BRI RSERT RERSS.
Incorrect. Ignoring the unplanned work is a bad idea, if this adds value for the business or the
customer. In addition, continuous improvement includes both the way of working and the
product or service the team works on.

D) iR, FHEUHEERETFA, thEERAGRRATmaERSS. Wit IROBMEMIER, EA¥
XEBNRATRER B TFRTFRRIFTAEE
Incorrect. Continuous improvement includes both the way of working and the product or
service the team works on. In addition, splitting up the team is a bad idea, as half the team will
most likely not have all competencies necessary for the work.
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EES=RNAREGe L, HAITEFNEE. NB=5FEREE, BSTEISITT/FrYE
. REABRXNEE, BARBARE "HRERE" 19ES.

FBAERIA LA T (R, (ERRMEFTEFR=SAIEN. Eit, TIERHREBEARMNRARAR, =
AREACHY BARAT BEFTiESE .

EIRAEZE AR BRI CREIF TSR, ItEINA, DRRXFMERASERKER.

AR BINRIRRIEEGE?

During three successive daily meetings the same impediment has been identified. There is a
dependency on a third party that hinders the progress of various tasks of the team. No one
has addressed the issue, because no one is responsible for the task ‘removing
impediments’ .

The team can continue their work for now, but input from the third party will be needed
shortly. Therefore, the work may not progress as fast as planned and the goals for this

iteration may not be achieved.

The team wants to make sure that the current iteration is still finished successfully. They
also feel that they must make sure this scenario does not repeat in the future.

What is the best course of action for this team?

A) ENEENECRTEE, MBRERFEISAITIEI. fthiINiZBEHERE AT TIEIT.

Change the scope of this iteration and remove the work item that causes the impediment.

They should refuse new work items with dependencies.

B) XIBEWKIMERI TIFIAIRIRAB R TIRIER. RK, MEXFMER FAIZEINE,

Hold the team member of the work item with dependencies accountable. In the future, they

should be stricter in this type of situations.

C) ILEAREHRIERS. T TFIUEMIMKIRR, SB=7 0 TIRMEAE.

Make someone responsible for removing impediments. New dependencies must be identified

with new work items and third parties must commit to the work.

BEAR , EF-X
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A) IR, EEHEENTIFEESARIFER. MRTERARESEEMARIIE, LAIFiELIE

B)

9]

K Bfr. EEERBM T/ IFEATEE. KitEEREEENEF LIFIEZ 2.
Incorrect. Changing the scope of work during an iteration is never a good idea. Removing the
item may have other undesirable effects, such as not achieving the iteration goal. Refusing
work with dependencies is virtually impossible. Dependencies are often only recognized after
the team starts working on a work item.

Bix. EIRTETERITA. Bk, WENZBRAGERBRIE, ATHIEEERBR, REARIEHR
PR R ER .

Incorrect. Holding someone accountable is not an Agile behavior. Instead, the team should
pull together to solve the issue now. To prevent it from happening again, someone that is
allocated the role of removing impediments is helpful.

IEf., 120 (84E) BEIRAEREMIRE ANMIRMERSHIMEF 2. BRTIFIATREAISE =75 it #iE,
EWRITIESEHERE TR, (OB A, 52, 7. 88)

Correct. Any (Agile) team benefits from allocating someone the role of dealing with
impediments. Asking for commitment from the third party that a work item depends on is a
good way of making sure the work keeps moving forward. (Literature: A, Chapters 2, 7 and 8)
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LarafOEricifieERRFSINGEE. —AEMMTHRENMEAE A EFE 51X,

EricRr, #iiEfSARNIZEENA— 1 BRI SRR RN ERRFIF.
Laraf#il, BRNETECHHINME, FRASGEREN, ARG REMSAZZEILEMZ .
RN, HEHEEMFA?

Lara and Eric are discussing introducing Agile in the context of their organization. They
have a disagreement on how to determine the new processes and other tactics.

Eric states that the new processes and tactics should be copied from another organization,
a direct competitor, that has already undergone a successful Agile transformation.

Lara suggests that the organization should first establish their own new values and
incorporate the Agile principles, and then base processes and tactics on that work.

Who is right and for which reason?

A) Eric, AAARENFILMBREFNFABEEREMNE.
Eric, because copying a competitor ensures that the competitor no longer has a big
advantage.
B) Eric, EARUBRINAVERAILACIERARIAIINIE.
Eric, because copying a successful organization creates the largest opportunity for success.
C) Lara, EAFKEI—EME, JLULEBABTIFIERAY RSN,
Lara, because creating a set of values first allows the team to interact informally and socially.
D) Lara, EASEY—EMME, ATLABREINRSHWSNME.

Lara, because creating a set of values first ensures that the most business value is added.

A) H#HiR. BTFXESATTRERA—EER— I MEPEN, FRENFNRRSEREME.

Incorrect. Since the tactics and processes are unlikely to work in another environment, the
competitor will still have a big advantage.

B) $HiR, TICHB—MERRIAS AT, BRMSGXLEHATE HTEMIMEPERATRESL,
Incorrect. However successful another organization is with a set of tactics, simply copying
those is unlikely to work in any other environment.

C) $HiR. Lara@XHY, (BEHAAEXA. FEXMHREHIHNSEREMNRARIABRNE. SHERF
~EZ LR,

Incorrect. Lara is right, but not for this reason. Interacting informally and socially is not the
reason for basing the processes and tactics on the organization’s values, strategy, and

mission.
D) IEff. MEMBARZESHALBSHNE. SISFIREEER, LUESWSNE. OE: A, 52
=)

Correct. Processes and tactics should fit with the organization’s own values, strategy, and
mission to increase business value. (Literature: A, Chapter 2)
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RABEEZHEEZVE ST, FMGREIRRERY: B—REEFR. —|BTN. —8<H
EEM—= O EEEHEBEF.

EERECKENES T ANKR, LUENFTHIETSHHE. I8 D BIeE T B =S E,
UEMETARHNE—XE, 5INTER, FREANGRE LOIATHSESIIHE.

S AFBAIHX N SRANE A B R BEARABTEFIATE, (B BE R T RIFIERSS.
ZBRRILER BRI T RIFAYSERME?

A large doctors’ practice wants to establish medical support teams. The teams will be
cross-functional: they will have a receptionist, a physical therapist, a general practitioner,
and a psychologist working together.

Management has re-grouped their human resources to fit the new medical support teams.
They have created a team space for each team to sit together in the same area of the
building, introduced a Kanban board, and decided the team must meet every morning to
discuss progress on the tasks.

Although the team feels overwhelmed and lost by this sudden change, they keep providing
excellent care to their patients.

Is this organization demonstrating a good Agile mindset with its implementation?

A) 72, ENKEIERBENEL, FLBAARERAERIREEXT.
No, because no input from patients is asked, so not all stakeholders are represented in the
teams.

B) 72, EANEKEDECEHRAMNMBEFISTHERIMARBRFEE,
No, because the team has no way to connect the values of the practice to the implemented
tactics.

O B EAESERETE, BEAARERMTRFA0FE,
Yes, because there are Agile elements present and the team provides excellent care to the
patients.

D) 2, EAEBARILUEHECRUESIRRE, BREFMBEFR.
Yes, because this team is in control of choosing their own tasks, self-organizing and multi-
disciplinary.

BEAR , EF-X
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A) iR, ABEXSESSBNTCTIRARTDER, BNEERE, ANFEREFAERIRA. BEARN
HWERNEIBA.
Incorrect. It is important that stakeholders are included in team discussions and decisions, but
from the scenario it is not clear whether or not a feedback loop is present. Patients should not
be included in the teams.

B) IEfa. SUBRRHERXTRN. MEMES, eSIIFNREFLDNEKRER, LEEERRE "t
" HABEoRBEER4E, (OOt A, $28)
Correct. The Agile mindset is about principles, values and beliefs, which connect the ‘why’
of the work, and its 'how’ . Having management just ‘implementing Agile’ cannot create
an Agile mindset. (Literature: A, Chapter 2)

C) $HR. UNESIETENFERMMNFIRS, A A28uERENRI. FARHFIRN TIERL
£, BFERMBARYETENRN, BREHRNARIIK,
Incorrect. Just having Agile elements present and providing an excellent service are not
demonstrations of an Agile mindset. They speak of dedication to the work and efficiency, but
it does not show how the organization reacts to change or what the culture of the
organization is.

D) $HiR, H\IRERLEHECHES, BSFEN. MEMESSBIEHEURR, MIX=FW 7 8iER
“4,
Incorrect. The team may well be in control of its own tasks, but there is no connection to the
principles, values, and beliefs, which form the Agile mindset.

o Agie Zii{##% EXIN Agile Business Professional (ABP.CH) 35

PROFESSIONAL




=%IN

7/ 30

XYZRBIR—HXAERTSEZEMHIERFIAAR, it EERESIE. CEOANNSIEERATH
F, EACEMT —FERTRESRGE. B, tRAN, SEETLIBESEL SRS SN A
HERAYFAEFNSC R SRR,

XYZ R B R B BRI AR AAER?

Company XYZ is a large car parts manufacturer and supplier and wants to become Agile.
The CEO feels that Agile will be beneficial for the company, as it provides a way of getting
things done faster. At the same time, he argues, Agile can reduce costs by applying the
same processes and practices across all areas of the company.

Is XYZ ready to start an Agile transition now?

A) B. EZTUENAERRREMERZEXYZMIZERE B,
Yes. Applying the same processes and practices across areas is what XYZ should aim for.
B) 2. CEOFTXIF, XFiEXYZESIFRSBIEEIREENSED.
Yes. The CEO is onboard and that is all XYZ needs to be ready for its transition to Agile.
) A2, BESAHANESXYZHNEMEY, RESITIES R~ maIE.
No. The Agile way is not suited for all areas of XYZ, only for those areas working on a product.
D) ~2. CEOXIBUERIHAEAIER, ERHARAIT,

No. The CEO’s expectations of Agile are not correct, which makes it a wrong starting point.

A) EIR, RFIFTEUERAEENRENLE, ERESEMENSFA. XIFEERr-EER, BiKER
B, FeefiTENE. SEENBNE AR ESURR TR,
Incorrect. Forcing all areas to use the same processes and practices, means choosing
processes over people. This will create friction, fostering resistance to change and not deriving
value. It is also not the purpose of Agile to standardize work across areas.

B) iHiR. REOHEERAEFECEOXMX—HRENFLAETIER, (EXAFEARE.
Incorrect. Even though a transition to Agile requires full commitment and understanding of
the journey from the CEO, this in itself is not enough.

C) iR, HUTHETUANSIESZ R, AR IES K& mAguE.
Incorrect. Any area can benefit from Agile, not just the ones working on a product.

D) IEffs, BHAMARS MUSSEINEMERATEN, A AE8RITIFELN, BAEMRTEMmES. (X
#h: A, ZE3E)
Correct. Standardizing processes and practices across all areas of the organization is not the
Agile way of working, nor is getting things done faster. (Literature: A, Chapter 3)
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ABCATRIITEIA BTN 7eREIER R, BIAFRI—Ia Rt B IR = HE A B AR R,

EEARP—ROARGEK, MBI ANILBAR, EAISEERSITRHRRE—RE,
BESRETEANSESHEIINER.

A ARBEESXNEHEEERA?

The IT team of company ABC has made a successful transition to the Agile way of working.
One of the team members is trying to convince the marketing team to make the transition
to Agile as well.

Some marketeers are very enthusiastic, while others are hesitant, because they associate
Agile with the IT domain and they do not believe an Agile way of working will fit their team.

Why could Agile be useful for this marketing team as well?

A) EHsEENEHEENEE T EIRUEIIE

Because Agile has developed special ceremonies and artifacts for marketing activities
B) ENEERESHLMUCINES B AMLTE

Because Agile is most suitable for repetitive and technical work that can be optimized
C) EASERENAEHFMHIRIHRIHZRE

Because Agile is a market standard specially designed for an area such as marketing
D) HEABUEEAEERE, MEFEMERNTUEIRM TME

Because Agile provides value to any area that wants to generate rapid and frequent value

A) IR, BHEREARE TS IR ETH.

Incorrect. Agile has not developed special ceremonies or artifacts specifically for a certain
area.

B) $#HiR. RESUENTIFSIEBAMENIIBN, BB ATEFRRE, EMALUNATATRIEEIR
Incorrect. Agile can be used in any area of the company, as long as it provides a way of
working that helps the teams to fulfill their purpose and the company’s better.

C) #HiR. SEARDNIINE, BARNEHFFEMIIRITH.

Incorrect. Agile is not a market standard, nor is it designed for a specific area such as
marketing.

D) IFff. SURTARSNEIRBERE. MEFEMENTERETNE. (E: A, B15)
Correct. The Agile way of working provides value to any area that wants to generate fast and
frequent value. (Literature: A, Chapter 1)
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SENHEEFR— MU OOELS, BT REENSE L, BNARSTE
SETERRER SRS A TR 2R, (S e — ST HIR,

Rz LA ZAG SR R AR —FRIXIRS ?

A company has chosen to do a small, but ambitious Agile experiment. The experiment will
not cover all the team'’s work. The team members will be regularly switching between the
Agile experiment and the current way of working. They will maintain a highly visible plan
board for the experiment.

Of which risk to the Agile experiment should the team be warned?

A) 7, BHESHEATRNE,

Misalignment. The mindset is incongruent with the tactics.
B) BRARWOAM. XFPEREERETIHIIR,

Out of sight, out of mind. This often happens to a plan board.
C) B, EBABRATREARTTAIIF.

Starving. The team members may run out of work too soon.
D) ER. At TFrseaEZRid=aYatIa,

Suffocation. The other work could overwhelm the experiment.

A) IR, F—EHERMTE. —MERESHATNE, B—EBEEKEEAERIIAIALRRRBRLETS
T EXRAHZBAMSFHARXEG.
Incorrect. There are two forms of misalignment. One form is when the mindset is incongruent
with the tactics. The other form of misalignment is when people who depend on each other
for success operate with different mindsets. But this is not a risk for this team.

B) {#iR. BFTESZHIBERNOAMAINGG: FEENBI T N ENINEH. SETILATTIRE
BEESCESEN SRR
Incorrect. Electronic tools are susceptible to the out of sight, out of mind risk: many teams
neglect to update them. A highly visual plan board will likely be updated in time.

C) iR, SENITFIUESRESER, RUIRNSTEENTEM&E, BXSEESIFHES T,
ASEEET RN ERS. EASKREOHE, AT EESHTIFEM.
Incorrect. When the list of next items is short, planning is more responsive and just in time,
but the team runs a higher risk of ‘starving’ when they are ready for more work. The team
has an ambitious experiment, so there is likely more than enough work.

D) IFff. SIEXRK—TELINEEZES. ZSREIRIRMETE. IEREANRES. SSERMARR T
REK, ESAJRESFEETLURNEISEER TIF-RaURSEFIE0. (Ot A, 566%)
Correct. A common risk to an Agile experiment is suffocation. Urgent non-experiment work,
short-notice tasks, requests for specific team members’ expertise may all use up the time
and attention people can devote to their Agile teamwork. (Literature: A, Chapter 6)
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REPARRI TSN TR, BRG] T B MEIARL R ERAY T ETELE.

XA EAMAAERE N IR R R SR E?

A team works on many items at the same time but sets a limit on the number of items that
an individual team member can work on at a time.

How does this practice reduce time to market and enhance quality?

A) IFRETTREENTIF, LIHRIMBMEATMN, SRR S5=FinE.
By allowing the team to focus on the most important work, so that finished items do not get
delayed and business or customer value is delivered swiftly

B) HHREIARRERIESRS, ITLASF—IIE, &FER— 1R, XRIET BN RRELETITHER
By ensuring that when a team member gets stuck, they can abandon an item and choose
another, which ensures the team members are always busy

C) WREEETESN TR, EEEHTURNNESS IR E, ILEFREHE
By making sure the team has the time to perfect each item beyond the expected value or
definition of done, so that the customer is always delighted

D) BIFmoBERZMEEH, FENAZTIESR, BEREH T miIsiHt e
By spacing out the work items over an iteration, so that the team does not get overworked
and has time to think about new product improvements

A) IEff, BREINMARNIEIEE, BHIREMAADLD, TR IE. NRAAMEEMN R REZERIX R
THE, BRDEHRRIIR, MMiRERISIME. (C8k: A, $75)
Correct. Limiting the number of items an individual works on, ensures that the team does not
get distracted and finishes the planned work. If all team members work according to this
principle, fewer items get delayed, which ensures business value gets delivered swiftly.
(Literature: A, Chapter 7)

B) iR, BABMRRETLIEEEIZ—TFER, ERFESKEY, STl IFR. BaiEidse
SRR LIFE, BTRERAY7RE. STRLUEHEEE,
Incorrect. Although the team members can move on to another item, it is better to ask for
help and finish the item they are working on first. Starting more work than can be finished is
false productivity. Finishing matters more than starting.

0) HiR. BIRTFHEEMERNTIE, MAREHRLR "Ee" HRERE, MRDENAGETHN
B, FAEZ=RISEMEINEIMNITIE, BEASIEINMNE.
Incorrect. Working Agile is about doing the right amount of work, not ‘gold-plating” or
perfecting the solution. The solution should match the expected value. Adding extra
functionality because there is spare time is usually not adding value.

D) iR, XRETIEEARE, HEFRNETEEZETIENERI. BEAAMEES R, BENEEET(FIN, X6
AFRFLESE, TLAMRES.
Incorrect. This is a symptom of insufficient work, or the team ‘starving’ for work. The team
should not be overworked, but there should be sufficient items of work ready to take on when
someone has finished their current tasks.
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HARBRPEIEBENERAMNIS?

What are the essential parts of an Agile mindset in an organization?

A)

B)

9]

A)

B)

9]

—EEBEEEAL. SHERE, UR—EERANSUELE

A complete set of an Agile methodology, Agile processes, and a set of Agile practices to
adopt

LIEFIIERASE. BEAMME. MEIFIERATSL

A culture of customer and outcome orientation, cross-team collaboration, value delivery, and
adaptation

RIFHOISHEAUEEIE, BNAEREE. HEMRTHA
A friendly command and control culture, where everyone is respectful to each other, collegial
and helpful

iR, ICEEEERA—ITIRE, —ERE, BEUNE—FITHRPNIHRE—NEIRK, X
T RBIERYE,

Incorrect. A common fallacy is that Agile is a methodology, a process, or merely a set of
practices to adopt. This is not an Agile mindset.

IEff. SURERBERLUEFPMERASE. BEMME. MERMFIENAIL (XEt: A, $B35)
Correct. An Agile organization has a culture of customer and outcome orientation, cross-team
collaboration, value delivery, and adaptation. (Literature: A, Chapter 3)

iR, ERIFRIEENESSMWH, FEEEEMPATEZANEGFTRER, MBEEE,
ENRTHA. BR, tIIMNFITIENSGN, BAR— 1B LM FGERDR. XAE8EE
B,

Incorrect. In a friendly command and control culture many of the managers and individual
contributors work with each other for a longer time, and are respectful, collegial, and helpful.
However, how they plan and execute work is clearly a matter of top-down labor extraction.
This is not an Agile mindset.
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REBNERTEEER A, BIIRELAERA=FIZ0RIR,

TR B RIRHA?

A team is experimenting with Agile. They have decided to use a simple plan board with
three columns.

What is the purpose of visualizing the work?

A) FRIER, FBEIRMIARE, WBREE,
It gives insight in the flow of the work and helps identify problems to solve.
B) BEITFLLFIRBAR RIS N ATIEERY TIEIN.

It helps keep the team members committed to the work items they have chosen.
C) BHFBAEREPLEFBARL RS HIEIRE, WLEARR,

It shows the team which team members cause problems and which do not.

A) IEHfy. XHELFIIARBER. (K@ A, $75)
Correct. This is the goal of visualizing work. (Literature: A, Chapter 7)
B) $&iR. HPARLRAMIZFZIT IR BN,
Incorrect. Team members should not need a plan board to feel commitment.
C) iR, BATTIIRAIBESISHIEEMTE, BERMZARER N ASHETREFIESE.
Incorrect. Although the plan board may show where impediments are, it should never be used
to blame individuals or identify who is causing problems.
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RALRIERAHERNE L RBZERA.
XEMFERL?

An organization forms teams based on them having the same specialty.

Is this a good idea?

A)

B)

9]

D)

A)

B)

9]

D)

2, BAERMGENIEIREZ KRR, FTLABBARNIZREFSE.

Yes, because teams process work items from multiple sources, so the teams should be stable.
2, EAERARZEE, ERFRESFHNERRZIRXNE.

Yes, because teams should cooperate and still be in a healthy competition to deliver the most
value.

A2, AAERMETEETHECHIRED, MAZEIENE.

No, because specialists have a tendency to focus on completing their part instead of creating
value.

A2, ARAERRASXK I IEENREHER.

No, because specialists will only focus on what impacts how they are measured and rewarded.

Hix, — MBI T LMERB Z 1 RIFN TR, FiRFFeE. REWEEENRB RO RIE
EEo

Incorrect. A cross-functional team can handle work items from multiple sources and is stable.
There is no good reason to order the teams by specialty.

iR, BEELEARMRES, EABRRNZEE.

Incorrect. Within Agile, competition is not encouraged, because the team members should
cooperate.

IEH, SUERIPAERIF2ISIRREEIRA, LARMBIIBEHE BIRELFA— B2 maEiRss, 3
EFRECHITE,. KSERMENFHELSE, FABEHRMIIZIRN, FRLMMIEEEETAE
CHIEBY, MARRMHME. (Ek: A, F7F)

Correct. An Agile team is ideally a cross-functional team, to make sure they can deliver a
product or service from start to finish as a team and solve their own problems together.
Pulling specialists from teams does not create commitment, so they tend to focus on
completing their part, not on delivering value. (Literature: A, Chapter 7)

Hix. BEREEHIPATTREEARFNEE. XAMIRTER.

Incorrect. Cross-functional teams may have the same problem. This is not limited to
specialists.
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HEFSE A ERARERRINERBEINERE, MIEAGEE TR, EAKEHREE
T, IEEIHB ST/, BRNFEERS TIEREEFIIT.

ZEA B BN BEE T E S ik

A legal team is feeling overwhelmed by requests from different parts of the organization.
They continuously have to reprioritize work, because deadlines keep shifting. They want to
improve their way of working, but also need to keep their sense of precision in their work.

Could this team benefit from Agile ways of working?

A) 88, EASEERE—MRYS, HAURMSTIEEBAI AR 24,
Yes, because Agile is only a mindset, which easily translates to any team or work.
B) 88, BEAT{FeIiFIEEIMERERIL Iz,
Yes, because visualizing the work and streamlining the value chain will benefit them.
C) 7Fge, ANEFRITIENEETEEN, THeRAEHELE,
No, because legal work requires too much perfectionism to use Agile practices.
D) AgE, BENEREELHFIREFRAR. (I m.

No, because there are no developers, deliverables, or products in legal practices.

A) iR, SUEER—MEELI, EFIHEUENS TEET LR R, BLEiELRNESIZER.
Incorrect. Agile is a mindset but it does not easily translate to any team or work. Some Agile
practices will not work for this team.

B) IEffs, TIFAJ#ML. BUENIK. EXFTRAMESEIELHGESZE. (O A, $58)
Correct. Agile practices such as visualizing the work, Agile planning, and focusing on
delivering value will work for this team. (Literature: A, Chapter 5)

0) iR, FTEENREWGHAE—NTIEIRBS A LABIA A TERF £,

Incorrect. The sense of perfectionism will only have impact on when a work item can be
considered done.

D) #&iR. i=5EA (WEB) BFEFRZH, FLMBIBTHAAR, FAERMCYIE M.
Incorrect. The legal team produces deliverables for their (internal) customers, so they are
developers and there are deliverables or products.

E{#E%E EXIN Agile Business Professional (ABP.CH) 43

EXIN Agile

BUSINESS
PROFESSIONAL




=%IN

15730

FIER DR EIEINR. LSRR AMLEEIE T SIS ARIEE. WE, MIBES
HEAG SN R REIBEHREMESHNEERE L. XEWRESIELRNT REBLEHEWNAE
FRIZEERITAE.

ABIPEIBk R A?

A cat food factory has done a successful experiment with Agile. They have let the marketing
team create blogs for the website that tie in with recent events. They now wish the
marketing team to expand the Agile experiment to managing daily social media tasks as
well. This means that the Agile experiment will be expanded by asking the team to take on
a different type of work.

What is a challenge in this scenario?

A) IERFRIBNEZ T
Having people pitch in in more areas

B) RIS TARRIEE 7 #E

Keeping overview over the work

C) KESHMEBARIEAR
Losing the connection to other teams
D) BIZFTAITAERBA

Setting up a new team for the work

A) IR, XN RIEE S BRI TIFRT.
Incorrect. This is a challenge when the team takes on more work of a single value stream.
B) IFff. ZEIANESREGSREBESRKBNTIF, £H7THEARESTRSER—. (XE: A, 510
5)
Correct. This team will take on more kinds of work in their processes. This may lead to
problems with keeping overview over the different tasks. (Literature: A, Chapter 10)
C) EiR. XM HEHIEZ MBI E AR T/FRT.
Incorrect. This is a challenge when multiple teams do codependent work.

D) $HiR. XM HbEHIEIEINESHIBIART, AGIRRIERFAARLE.

Incorrect. This is a challenge when more teams are added, which is not the case here.
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Bricks & MortarA Bl REEIX BMIXEER (OKR) . GIFSHMALR—F, ZAREERMEE
MEEEBR. IELRIRE, EF— M EEREEREEMLIEREESTEBFEXINER.

Bricks & Mortarkil, ¥ AERSEREEMSABINENA—RIIBFMEEES, BAANET R
ERTES—KBER (KR) (FHEEINEIFREENE.

I INAZ SR BERIERSE—?

The company Bricks & Mortar decided to give Objectives and Key Results (OKRs) a go. Like
many other organizations they often fail to achieve set objectives. They have realized that
one of the main reasons is that there is no objective way to measure outcomes associated
to the objectives set.

Bricks & Mortar found it fairly easy to translate their strategic intent and overall goals to a
set of objectives, but they are finding it extremely hard to agree on what Key Results (KRs)
should be used as a metric for each of the set objectives.

What should they do to reach an agreement quickly?

A) -ERFUTEIRAB RANEL SR TIFKRAVEA
-FEEMBEN, SIE—MRERIKRYIZER
-HUTEBAALR Z A& BRI = KRIA AR
- Ask input for KRs from both executive team members and other employees
- Merge all suggestions to create a comprehensive list of KRs
- Reach consensus between the executive team members on three KRs per Objective
B) -BlE—EEMARNREMAIERITIFE
(TR AR S SAE B TR
LRI TRERHITIIE, BEIS T BERE= P EESHIKR
- Create a task force with members from throughout the organization
- Ask a single executive team member to lead the task force
- Let the task force discuss until they have three or more KRs per Objective

C) -BIBRIXEEMSTR (KPl) SARRIBHMEE, HEEEIAIKR
-FEKPI SR KRIIETFIES
~FEKRIZAZEEHUTRIARL R, A
- Match existing key performance indicators (KPIs) to the different Objectives and define new
KRs
- Rewrite the KPIs into the format and language of KRs
- Present the KRs to the executive team members for approval or ratification
D) -it—MESERRERINHITMIRNE, BEEEFRIIKR
-ERBEINERERIATEIN, B BmERES-101KR
“EHUTEIARL R A BIRERELIEE2-41KR
- Let a cross-functional team brainstorm for KRs for each Objective
- Ask the teams to review each other’s suggestions and select five to ten KRs per Objective
- Let executive team members do a final selection of two to four KRs per Objective

BEAE , BT—R
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A) IEff, XFMEGEERTBMERNRIRENL, ERAERITEMISSIERGAZE, (Xt B, $38)
Correct. This approach solicited feedback from the whole organization but ensures that the
executive team is accountable for achieving the Objectives. (Literature: B, Chapter 3)

B) iR, EAWEAENEL, MEFAEENHEEHE, EHEKREEANSENTE, — P EIRKEK
AZHKREBAR—MFER. BNBEIFNKRARF=A
Incorrect. Although diverse input is welcome and helpful, defining KRs is the responsibility of
the leadership of the organization. It is also not a good idea to have too many KRs associated
to an objective. KRs should be limited to three per Objective.

C) iEiR. KPISKRZEAHERXE. KPIZRIMFEA~HAYFEEIR. KRIZERZERAR, BiEl
BPEFHHIARY, BRMATRERSIIMBR (BRR) . AJREEKPIERKR, EAZENTHEIRE. EX
FIRLFRERARAAERE.,

Incorrect. There is a marked difference between KPIs and KRs. KPIs are interim indicators that
shows the intended output. KRs focus on results and outcomes which highlight that even if
output is achieved, the organization may still not achieve its Objectives (outcomes). It is not
possible to re-write KPIs as KRs, because their intended use, focus and application are vastly
different.

D) $HiR, SEENRBEFAILI, EAREEEMNISSHIEKRIIIE. XMESENITREESAR
BA, HREBEARDRE,

Incorrect. The executives are accountable for the achievement of objectives and as such
cannot delegate their involvement in the creation of KRs. This approach is fobbing off
executive responsibilities to proxies to make decisions on their behalf.

o Agie Zii{##% EXIN Agile Business Professional (ABP.CH) 46

PROFESSIONAL




=%IN

17/ 30

BRZFRLAFIRSE, RENSIEREEMNINSATRUAIER. BROEFAE—HoN, £28%

HEFRIRR. XEREBOERETAIITIE.

HHIFR KA, HARGEERR TIFESRRIEST?

Organizations use Agile because it enables them to be responsive to changing needs. New
requirements are often identified while developing part of the solution. This means that
sometimes changes must be made to work that is already done.

When new requirements emerge, what is the best way to handle changes to work that has
already been done?

A)

B)

9]

A)

B)

0

wEmERKRE, ZAEEREDSRPRIERES, DA RARS, BFEFETRERTSE
HIRFR

Create new tasks in the iteration backlog immediately after a requirement is identified to
prevent creating technical debt, even if there are no consequences of waiting until the next
iteration

ROICHRHHBK, BEEAMENTAEBLE, RIETRERSINESZAFERERIRR
Document new requirements adequately but deal with them after the current iteration is
complete unless there is a significant dependency between the new requirements and the
current tasks

BINVEICRIHR K, FANFOEM, LRAHESRMSGER, BMERRRSARESTFERBERR
Record new requirements in the standardized way and make them part of the backlog so they
can be prioritized appropriately, even if there are dependencies with current tasks

iR, MERBEENTERAPEN, REANBITIERE. SRIFRZRNRIFTHRIE, BREs
i, (ESHRREBIIER, SEFEHEMEINER. IRKEEERER, NUEERITHRIRE.
Incorrect. It is not wise to change work during an iteration, although sometimes there is no
choice. It is best to always attempt to protect planned work and avoid task switching. Tasks
switching impedes flow and often has other unintended consequences. If there are no direct
consequences, planned work should take precedence.

IEH, (ISR ER, RASBBIER, ERTFELHE. MRMMERERNERESTEE
FI, WEZSENEEREH TS, MRASERETEER, WEARECHELE. Ik A,

B1E)

Correct. Task-switching is not a good idea as it impedes flow and introduces errors into work.

If the consequence of not dealing with the new requirement is that it will have a material

effect, deal with it during the current iteration. If there is no direct problem, deal with it during

a future iteration. (Literature: A, Chapter 7)

HiR, XNERRHAVNEERREF—MTE, BRZEENETERE. BN IEsiER%EsTAR

R, ECTIFEANE, BNXEIEEL. FMERE,

Incorrect. This answer is typical of someone who sees Agile as a method with a fixed process

that is always followed. Rigidity does not show an Agile mindset or behavior. Standardizing

work is great, but response should never become rigid and inflexible.
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Emilia2—RETEDITRHATRIEIE, WEEMIIHHSEIES I NAYERP.

Bl E—REEFATMEIE, {BRANE, BRESIRbORANE  SUET(ES. BillSEH
ASESIEMIlafiRis, FBmAbrBMEFA .

Bill 5 FEIA R R AT gEtARIRE miliaFIPARYSER,. 1B fE, BINESSIENR. JUBRE, BillBIEIRA
XIRABUESLR RS, FRY RSB LA TR FERIEER.

Bill ARz B A AR RIMRIE?

Emilia is the manager at a data analysis software company. She has successfully introduced
Agile into her organization.

Bill is the manager of a construction company and would also like to adopt Agile. He is
trying to introduce the Agile way of working to his team. Bill wants his team to learn from
Emilia’s experiences and asks her to lead introductory workshops with his team.

Bill tells the team to copy the practices from Emilia’s team as closely as possible. The team
is left to experiment with Agile after the workshop. A few weeks later, Bill's team expresses
doubts about adopting the Agile practices. The new way of working is not giving the results
the team expected.

What should Bill have done differently?

A)

B)

9]

A)

B)

0

BillRziZ L L FIAFF 4RI =T, SehblE RIS ERIFT RIS K.

Bill should have created a clear definition of Done and a new set of acceptance criteria before
leaving the team to the experiment.

Bill RIS A3 o il N TAFT,  TEARARANME R E AT LASEESREE A E.

Bill should have decomposed large deliverables into smaller work items, whose size and
nature allow frequent value delivery.

BillRiZFNEHIA— 2 SHIBEG ATRISEESLE, MARMRIREMIliafystik.

Bill should have worked with the team to find the Agile practices that work for his company,
instead of copying Emilia’s practices.

HiR. NTSSIEUEY, STRVERMRKIRERBE RN, EXAEAMIRIERERTE.

Incorrect. To achieve agility, a definition of Done and acceptance criteria are useful, but that is
not what went wrong here.

HiR. SIESSHRMSISBARSYOBER/NTER, EXARRFRRREAE.

Incorrect. Agile practices do decompose large deliverables into smaller work items, but that is
not what went wrong here.

IEff. BIllNABEAFFREY, BEBRIEFTALERELEN. IREMIELHRELERAEIR,
BBABMIZIHENX N ERAIERY, FRIEETEMEHITIEN, (OJk: A, 5$8F)

Correct. Bill's company does not make software. It does not make sense to blindly copy
software practices. If an Agile practice looks promising, the purpose of the practice should be
found and adapted to the context it is supposed to work in. (Literature: A, Chapter 8)
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ABCARIEHE= T8 TESZAIH. AEREAEEMNEEXZRRNER, I=XAEER
MIMEH T ERR. SEAANMEKEHT=SRIE S8R,

SEhR b, BINENS M EBAREENAESR R (WIP) ER, ERNESEE R ERIEPATEEIARIEE
RHEERERBKIRR, XBE—Abbk.

HARIX—IRERIRIERIRTT R

Company ABC has recently started initiatives with Agile ways of working. In company ABC,
different teams often share the same resources, and they have tried to manage projects
visually using Kanban boards. The teams are not very good at keeping the current project
management software up to date.

It also proves to be challenging to find a way to provide individual teams with visual
information on their work-in-progress (WiP), while also showing the overall progress of all
teams in higher-level projects and their key dependencies.

What is the best solution to solve this problem?

A) BEHERENENTEN, RERRSEEBEMARRE— TR MNKENBRETR, MEAZREBE
BEWER.
An overview of overall progress should be the priority. The best solution is to have an overall
Kanban board with a single swimlane for the entire organization, visible to anybody.

B) MEEFICNEMTET, ERRSTEEEMEIRE—THFIEEETE, EESENER, t
RABRNEN.
Customization of views should be the priority. The best solution is to have an electronic
project management tool for each team to manage their own Kanban board and compare
different iterations.

C) EEFASHNIZRMNTET., RERRSDEEEMENEE—ER. YTH=RER, BRAMEER
REBKIRAR.
Managing team performance should be the priority. The best solution is to have a Kanban
board for each team. For shared resources, the resource owner is responsible for managing
dependencies.

D) RFHERFNIZEMNSTEM. RERRDEERENENNEMNEE— N mKENER, BEHRBIMNE
BRIRREIERR.
Proper use of shared resources should be the priority. The best solution is to have a Kanban
board with swimlanes for each iteration and team to help identify and manage resource
dependencies.

BEAR , EF-X
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HiR, BACTHRILFRSIFEEE, EXMERDE/VFATRESEMERERITIEN, BARTEELERA
HNE A IR E B A B IR SFIA IR,

Incorrect. Although an overall view of what is done is very important, this solution will make it
nearly impossible to effectively deliver iterations and for the team to have a proper level of
visibility of an iteration to manage performance and deliverables.

Bix. EAEFTIESZHMBEANOATAING, TFESEABIM T RESEH, FLABRRNEIREIET
EATIFEETBRER. EXRTEALUSEIENAAE, BERF+, BTEAETERRE, L
XMERTT B R TUHARIEER.

Incorrect. The use of electronic tools is susceptible to the ‘out of sight, out of mind’ risk
and many teams neglect to update them in a timely fashion, so their boards lose their utility
as a work management tool. Although tools can effectively be used, in this scenario, as the
team is not good at updating their software, this solution will not deliver the desired outcome.

Hix, LURHEEBAN BRI ERIUEERNEANSEE, B—FUXIMeIE. XiMaRsEHIENIF S
RASEENERSD, MIIIEFHEEScrumF L HANES, ARTIREIScrumisEH A REREXTE
FIZERIFTK.

Incorrect. Optimizing the performance of single teams at the expense of the overall
organization is a sub-optimal approach. This tendency is often found in organizations that just
started with Agile and are trying to keep closely to guidance given by, for instance, Scrum,
without realizing that the Scrum Guide does not cater for this level of complexity.

IEffe, XF7TABEA AR AL KBLIRATARITRRK, NAILIBEENEZEB S TIFIER. KR
RIS Z AN, ERERBIRARABRSERLAR, (38 A, $8F)

Correct. This approach allows for managing both the requirements of the organization to have
visibility of key constraints and for the needs of the team to manage and control their own
work. Resource dependency can easily be spotted, and planning of iterations or releases can
consider constraints. (Literature: A, Chapter 8)
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ZTEEAIAR, FEMSSRASEERT 7 —L8E. 2B\ — B ERMENE, NSAERR
BRI EFFL. INEARNEEBHZFINNLZER— MAEENMSEEML.

FRMSBEEN A —EAUEHRIRE. G B IMRRISNITIE, Mt itigaitit

MNE=L.
TNREASWRLERHA?

After a short experiment, a team expresses some doubts about adopting Agile. The team
successfully followed their old processes, but now struggles in unfamiliar territory. Their
natural reaction is to reject the change as a failure or a bad idea.

The team views Agile as a set of prescriptive processes. They do not feel the freedom to do
the work the way they used to, and the new way does not feel productive.

What should a next team meeting pay attention to?

A) FEBAHIEE IR -BEETE

Creating a customized Waterfall-Agile approach for the team
B) iLERNERAREURE R —F LU SEHANBRUES

Making the team understand Agile as a cultural practice and a mindset
C) AARREHEEREREERR

Restarting the Agile experiment with a different Agile framework

A) IR, FEWKERSENSERDEEEE. ZEIWUFFHNEREIERISERE. RERMERRA
TXAN A,
Incorrect. It is not advisable to combine Agile with a legacy methodology such as Waterfall.
The team does not seem to understand true Agile. Reverting to Waterfall methods will not
solve this.

B) IFffi. BEPAMUFIREERIEMFSEE, MAX—RPER. (XEk: A, $B58)
Correct. The team does not seem to understand Agile correctly, so this must be paid attention
to. (Literature: A, Chapter 5)

C) HiR. TENANEIERESEENR, REZIERTREIWE. O, ERATRRRER, T
ARIBEBEMIERE. TRERASTIRSTFHHIERARASARBYELT(L,
Incorrect. It is not advisable to restart the Agile journey with a specific framework, despite
their popularity and promises. Frameworks may ignore context and deprive people of
freedom and choice. Installing a framework will not bring about the culture and mindset
changes needed to support any framework.
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RABIENBITTSSHIEUREHE, FINsETIF—RIJERENIUER.

HABER X T EEHREME?

In any Agile adoption, there are many things that can go wrong. An example is cultural drift
after some time of working Agile.

Which is the best approach to avoid pitfalls like cultural drift?

A) BZiME. RN, 175FBERFAEE RN

Establish a coherent culture around values, principles, behaviors, and self-organized teams
B) RERHIDIETE BRIz EASRESERAIRE

Follow the current best practices and standards that are available in the market by the book
C) IBEXEMUATERIEE, TERHLIE

Take the practices that are working for a similar company and implement them the same way
D) X E N ERIKERRHTIE), TERBMIFTIFRESTEEE

Train key people from each of the teams to implement Agile exactly as they have learnt

A) IEH. XELMESURRIREMZE, BN T IXMANE SRR oM. EfiblaHamdERErR
. ERMRESE, URIFEAREE. (Ot A, 5108)

Correct. This is the best approach to implement Agile in a way that avoids most of the pitfalls
of a cultural change of this magnitude. Other pitfalls are putting too much trust in standards,
frameworks, and best practices, and non-Agile people management. (Literature: A, Chapter
10)

B) iR, RESHIDEEERELHRENE, RIBEAEFE—FTIENEEATMNAT XXMM IIESG.
Incorrect. By following best practices or standards by the book, people are forced to follow a
way of working that may not be suited to the culture and the company.

0 iR, EERAFTEBNAA, AR —RATA—ETEE. XMMUEZ2SEEEIHFETE, R
TERENHE, MANIERESABRNXUFITIIESL.

Incorrect. What works in a certain company will not necessarily work in another. This approach
will lead to a dogmatic implementation of Agile, focusing on the process and the system and
not on the culture and the way of working that is best for the company.

D) iR, BIERTEURAITRETSENEID, AT RS EAEXISTESA, B8N QSRR ER
EECHES. MEMRENREES SI/FE.
Incorrect. Courses teach standard methodologies and techniques which may be useful for
implementation when it comes to tools or technology, but each company or team will need to
define its own way of working based on its beliefs, values, and principles.
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—RKENEFPRESHVNATIEEFE—ESTEN, EisiEis.

ZABERXUHNEZFHEE, MIISREEFEERED TIFETJRSMEER. MIFEEEK
FEPRRIR, DMRIFRIRAVERERAR. AFEE, S8Rl ARNIZEHRECMAAF040
A1,

AT SRR, BREIR, EEEARS, BIEEEEAREESE.
AT RURESXRAE]?

A small company specialized in customized surfing gear is developing a set of operating
principles to start an Agile experiment.

The company cares most about customer satisfaction and realizes customers may change
their mind after seeing part of the work. They want to receive customer feedback often to
keep the cost of change low. The company strongly believes that trained professionals
should have the freedom to determine what to do first and how to do it.

Since the company is small, resources are limited and there are only a few managers. Each
of them manages multiple teams.

Which set of operating principles fits this company best?

A) ERAEESEFR—RINESZIE, BEESHTIFRERMAALNES. MIIfEUEERK, LUREE
;EO
The team frequently and diligently checks their work with the customer, even if that leads to
delays and higher costs. They work in long iterations to maintain focus.

B) ERA/RRESE CHMEARE, BESMEREFIRIR. BAATHZUEFRTIE, LISSIiXfhRIR.
The team must be able to make all decisions themselves but will invite feedback from the
customer. The team works in small increments, to allow for this feedback.

C) EMREEEIERE(INZATEAERMI/E. BANEEK, JUE—RIERFTHARS T
1E.

The team will only deliver work after extensive approval by the managers. The team works in
long iterations that allow for much work to be done inside a single iteration.

D) FBARIEEFIRENRKBREARIIE, LIBRRERE, ERRAEEMNERERNEREER.

The team works based on a set list of requirements by the customer to keep costs low. The
results are only presented to the customer at the end of each iteration.

BEAR , EF-X
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A) iR, KERINEEFMERIR, EETRERNGFETIHR, XEHEEEEEIRID.
Incorrect. Long iterations coupled with frequent feedback from the customer creates a
contradiction within the operating principles, which will frustrate success with Agile.

B) IFff. XLETRUNATRINME. ESFLREER. (L8t A, $95)
Correct. These operating principles work with the values, beliefs, and constraints of the
company. (Literature: A, Chapter 9)

O) $HiR. IZATHNAT SERIGEEEENAIRAR., FRRIOEATHFEEFAHEENNE, XA%K
EEEIRIRIA.
Incorrect. The extensive approval cycle does not fit the constraint of limited and stretched
management. The long iterations do not fit the value of customer satisfaction, which needs a
short feedback loop.

D) iR, BRBREEHRZERIRAFFEMZHEENNE, EFRTESHEER.
Incorrect. The set list of requirements and lack of feedback do not fit the value of customer
satisfaction, where customers may change their minds.
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A AN ERIEEERAMREE?

Why is collaboration important for an Agile team?

A)

B)

9)

D)

A)

B)

9]

D)

EAEERN BB S SREMERTHT R AER

Because an Agile team consists of social people who will easily collaborate with their
coworkers

E RIS ERAVERFTANR, IAREFAITENY

Because collaboration creates joint ownership over the results and better working agreements
R 7ot EHHRE BRMLE T N A BIR

Because collaboration ensures that the team objectives take priority over individual objectives
E79% AIMESSREEN TR, AILAERISRIER

Because several people collaborating on a single work item leads to results faster

iR, BIEAR—FER, IAETHRNASTEALISHAMEEL. SEEEARBSETHRAA
AR A IER. HIEANEREPA NSRRI B ISREMIMLERISSD, ERELENNE, A
VR Z RIFAIE AL I,

Incorrect. Agile is not just a soft-spoken idea that believes that social people simply work well
with others. Neither is it true that an Agile team consists of ‘social’ people only. True
collaboration is a team'’s effort towards a shared goal and responsibility that requires
discipline and alignment, not just good will and social skills.

IEff, MERHBEENSHERR. MEHRIME. BRRIERFRBTAESIRE, AmE
PREESFRITAEINN. (SZER: A, $B7E)

Correct. Joint ownership over the results will ensure that value is delivered early and
frequently. The team members share the responsibility of getting things done, which leads to
a better working agreement. (Literature: A, Chapter 7)

HiR, MAERENNEFRMAZNARNBR, 251%ET%E, BABTERNFRAIEINTA. XA
ECHBANBREEE, MEERIAKE BN AR,

Incorrect. Prioritizing the team objectives over individual objectives can lead to frustration and
will not help to create the desired behavior within the team. It is not a competition on which
goal is more important, but a matter of reaching both team objectives and individual
objectives at the same time.

HiR. FAEMBESEHIUSNZEZ ARRRT, XMEEEFERFER, FAFserIatatE
BArREFIA.

Incorrect. Not all tasks can or should be worked on by several people at the same time. It can
lead to bad results and an inefficient use of the team’s capacity and time.

E{#E%E EXIN Agile Business Professional (ABP.CH) 55

EXIN Agile

BUSINESS
PROFESSIONAL



=%IN

24/ 30
ZEBRA/ ARESLBAUERE T L EEER, FERESKANEER, i1—BEBIT(F. SEEA
BEEEXERIRI, NMARiSH AR HERIN .

HAREESENERRERE?

Company ZEBRA has effectively formed several Agile teams that have been working as a
team for quite some time now. The management team wants to measure how the teams
are doing, so they can give extra support to the teams that are struggling the most.

Which is the best approach to measuring the teams’ performance?

A) HEEREMIERAEIE. SHFIRBEER LR, AREKENGIESH T
Ask the manager to assess how they are doing on metrics such as teamwork, support, and fun,
then ask the team for an improvement plan

B) 2UHF\ZERMRES, RIEEE, XHMENEFHEESERRREZN
Create a healthy competition between teams, rewarding the best teams on metrics such as
velocity, delivered value or customer satisfaction

C) RigiEtR, RASEESEAENCRARER, (BE2EdEmRmEGIT
Ignore metrics, because they are not recommended within an Agile approach and instead
influence the teams’ behavior through interaction

D) AR—REMEERIEGERIN, IEMEMNEFTITEMIERE. FIESFEF LARN
Organize a team health-check session where each team self-assesses how they are doing on
metrics such as speed, learning or mission

A) BiR. SNAFRERFIAFTME, MEEFKIHL, HEEHNREER. ELEE.
Incorrect. The teams should not be assessed by others, but assess themselves, to provide
accurate and real information to the management team.

B) $HiR, EEANRZHLSHERNZERIRR, EEREXSIEFLAIEN B,
Incorrect. Creating artificial competition can lead to resentment between teams. Selecting a
winner will not help the teams that are struggling the most.

0) EiR. EATEREETNVAEURERIER DR EFE—EFE, Bt XELXEEFITS
BIRERBERTSIEE T —EIAR,
Incorrect. Even though there are some debates on which metrics are healthy and how to use
them, the Agile community has come to several realizations on them and ways that are
aligned with the Agile mindset.

D) IFf. HANEREEREEBFINRNEBARSEEN—MEEEFDE, TURERRXTREFFAIE,
MAREBIERRETHEERR. Ot A, $105)
Correct. A team health check is a recommended way to measure people’s engagement within
a team and can help management to focus on the teams that are struggling the most, without
using these metrics to compare or assess performance. (Literature: A, Chapter 10)

E{#E%E EXIN Agile Business Professional (ABP.CH) 56

EXIN Agile

BUSINESS
PROFESSIONAL




=%IN

25/ 30
SEEEANIZAN I & T R RERINME?

How should Agile teams focus on a single outcome of value?

A) 1REFAMRREESIN

By always working on what is most important
B) GRS ERIRSTIATERALR

By choosing the single outcome that can be achieved fastest
C) ERIUTEMRIESINF

By following the task sequence that has worked so far

A) IEfi. SERTEATVRREITREES, BRRAXE— TR, (XEk: A, F7F)
Correct. The Agile way of working always focuses on what is most important and on one
outcome at a time. (Literature: A, Chapter 7)

B) iR, LMRRAIBRA—ERNENBERAIIMNR.
Incorrect. The fastest single outcome is not necessarily the one that creates most value.

0 #iR. KEITERNEIISIG, FA—EERERATS BN E. XA tRaEE
RIRFIE 89S A,
Incorrect. Following a known task sequence that has worked so far does not necessarily mean
that the team will be delivering the required value. It will not leave any room to feedback and
learning either.
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REPHARRES TN ASEET I EE—NEM UK A D EARREENRIR. A/ AT, B8
KELFRER AT TTRHRTIE. XEBHRIIASRELEFEREMBRPRIFERII—KRE.

ERBEENRFNERT, REBEEMIRRIERIA{T5E?

Only few organizations can initially afford to permanently assign resources with different
skills to an Agile initiative or even an iteration. In smaller companies, it may never be
possible to get resources to concentrate on single-piece-flow work. This is often cited as a
reason why Agile cannot work in a certain organization.

Is there a feasible manner to launch a pilot project, even without dedicated resources?

A) 2. Sl EBFIIIEEN. LA BRERN T LURZITHESS, BRRIEFEAEEF—XLR.
Yes. Create a team and an iteration to work on. Allow the team to work on their tasks
independently when they have time but ensure that the team meets every week to do a
stand-up meeting.

B) 2. BRTH—LAEER, 1LEIREEBESASLERETIERNER, #HTRE, EXREER, M5
SZHEMFRKAIFN.

Yes. Schedule blocks of time every week in which cross-functional teams can work on an
iteration while continuing their regular work. These blocks of time must be protected from
other demands.

C) 2. EKREPNRIFRIAR, ¥ KEBAIIE, (RIEZRBAH. FrAEREBemasmEKEMME, L
BEA TR MESZ (S,

Yes. Select part-time members of the team and expand the size of the team to ensure enough
output. All iterations must deliver a similar level of value to create predictable value delivery.

D) AR. BMERELENWE AR, XEILIRFIERR (WIiP) |, UIFER. WMRAELFEEM
AX—R, RFAERAMEETA.

No. Resources should be dedicated to at least an iteration, so work-in-progress (WiP) can be
limited and flow can be optimized. If an organization cannot do this, it is best not to use Agile
methods.

BERZ , BT -
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HEiR, BREWSRENE, BB SENE, AR FE SRR SEAREINAIEES
£, s, WRMR—ERE (CEEERELEEAKRRIBERT) LHTES, tiIBEARERNS
15, BAKIANME, SHEMBILTERZH.

Incorrect. A joint stand-up meeting is a good idea but working on their own will not achieve
the desired collective ownership and mutual support that develops in Agile teams. In addition,
if members must work on tasks when they can, especially if under pressure in their day-to-day
job, they will either not deliver, or they will underperform putting the whole team at risk.

IFff, BAESTARRRMNGE, EXEASHELRPHEDNANNEL (EOZE0H, BHE
EZEKH) . EEREEAWNIER, FEEENNERTAERFOENES, BN, BETIERL
IME. OBk A, FEAEFNESE)

Correct. Although task-switching is not optimal, it is a reality that most transitions will have to
deal with (at least initially, and sometimes always). For the team to function as a team,
dedicated time to work on the tasks assigned in the iteration is important. Without dedicated
time, the team will not be able to deliver value. (Literature: A, Chapters 4 and 8)

HiR. XPEBNRINEEIMEARBEIAIEESE. HHh, ESINTHEXRBEGIIE, sZETIFNE
ERFTHINERAM, S0, TRABE. BRRENGISHRRNE, KEARITAER.
Incorrect. There is no way this team can achieve collective ownership and mutual support. It
also introduces the complexity of working in a large team, handing over work, and trying to
regulate output. Large teams have been proven not to work when using the Agile principle of
autonomous, self-organizing teams.

iR, (U EREUSSEDEMZEREEREYE. XPMERARERIINSEENEIEER, REEE
BIREE.

Incorrect. Any organization can achieve at least some level of agility. This answer does not
demonstrate true understanding of agility but rather a very rigid view of what Agile is.
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(MRS, FFEESUAECRITA, FREREEN. IINSITaEELRER Mt
AYLBLRRISIAL.

BRFMS B RRRE B PA VR SHIRS?

A servant leader must keep growing and continuously improve their behavior to stay
effective. Their words and actions will affect the culture of the organization they work in,
whether intended or not.

Which characteristic facilitates a servant leader’s growth most?

A) M, EAFHSEEREE—MEKATE
Patience, because a good Agile transformation is a long process
B) &, RN MANSIERESIEIINE
Respect, because the servant leader should follow Agile values
C) B, RABEEETHEITA
Self-awareness, because introspection helps changing behavior
D) &M, EMNMANRSNERECHHS
Transparency, because a servant leader should show their progress

A) iR, XHZRBEEREEIERE, FEML, BXARRFASHIASHIKAIRE,
Incorrect. Cultural change is usually slow and requires patience, but it is not key for growth as
an effective leader.

B) #iR. {MAXASNFRIHSFARAMNMENRUE—ERMTA. XFTARNGFERERREARGR
REE (B8) , BXAFRFEAESRASARAIKE,
Incorrect. A servant leader should demonstrate behaviors congruent with the chosen values
and principles. Examples of such behaviors include assuming positive intent on the part of
others (respect), but it is not key for growth as an effective leader.

0 IFffi. BRAISEASEASHKIRE. NRMRASEREE TN SER NI,
BURINERIS,  (3Bk: A, 5B9T)
Correct. Self-awareness is key for growth as an effective leader. If servant leaders cannot see
what is wrong with their behavior or why it does not work, they cannot grow. (Literature: A,
Chapter 9)

D) 2, MSMEIE SHEEONMERRUE—BEUTE. SRMTANGITEERERENES (5
) |, (EXFAARRENERASHIRHIXRE.
Incorrect. A leader should demonstrate behaviors congruent with the chosen values and
principles. Examples of such behaviors include explaining decisions (transparency), but it is not
key for growth as an effective leader.
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REBAEES DRI T IR TR RS EK,

HARMER S ERIRIETTIE?

A team struggles with emergency requests that take priority over planned work.

What is the best way to deal with emergency requests?

A)

B)

0

D)

A)

B)

0

D)

FIE—MIRESRR, RESFHENENESER, LRI ETRNTELTEH8E, XEFEFRIEBAAR
T2 I,

Define a list of criteria and accept only those emergency requests that fit the criteria. Allow
the team to economize on planned work to make capacity. This ensures the team does not
need to work overtime.

IERE R FEENEE RN ESREE, RMBERESMARNTIE, ERTIHREEIRFENN
Fl, XERIERIER N\ THIZAIRIIE.

Have a senior team member or manager check the urgency of the request and only deal with
truly high priority jobs, the rest go into the queue as normal. This ensures a speedy time to
market.

BFIATREEERST=RE, MNATEATE. XHERAAEI B RBAEINEE RS, ASHREIAE
go

Set aside some capacity on the team that can be used for emergency work. This ensures that
the project keeps moving forward at the agreed pace, while also fulfilling the needs of the
business.

FAARATINIER A E R T ERK, LUSRRARNRE. XFRRIE 7 EIAER R RS ERIT IR
TE, NARERE.

Spend a limited amount of overtime on emergency requests, to fulfill the needs of the
organization. This ensures time for the team to spend on both emergency requests and
planned work, without losing quality.

HiR, BUEIERRZIWHTENREER, EFTIFEINESE. EHRIELETE, B%E
[RAEITERIPLER P REFTIESER.

Incorrect. Some emergency requests will always be determined to be critical but may not fit a
list of criteria. Economizing on planned work means that previously agreed outcomes may not
be achieved.

iR, BERRARAL, BRWEMESHITERFTARE, WeFEED. TEIEREAASI0R
RHEE., BEARFTREROT8E, NITESEX.

Incorrect. Even if this is a senior person, there will still be pressure to take items into the
project which will impact other tasks. An overworked team will not deliver faster. It is better to
set aside some capacity on the team that can be used for emergency requests.

IEH, XA LAY EE, SRASEABTMAESEK, BATLAERERIRMIT. (X
B A, FE9E)

Correct. This can be defined in the team agreement. If the time is not used to emergency
requests, then it can be used elsewhere in the project. (Literature: A, Chapter 9)

HiR, KEINYBETTRES BATRERINE, FJEaSHIIFER, FELFRE.

Incorrect. Relying on overtime to complete tasks is not sustainable and may lead to burnout
and lower quality work.
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CBARBERATHIELNR. EEFINSESZ2—IEHE 7 CBARTIRINE. ESHLIR.

FBMRSZ TitHIAR, INAERERAE. B, MIIEERILES DR 7 /N4,

NERBEBHT—MARBER, TESEMMEFRTF—MESNIME. EFntEs—ESH
TiEd, BAFFRREIGLRE, MIEREESEEEURSCEFRL(ES LFED,

BN TIERRS, BRMNZEE El—NEkEERE?

CBA Company is working on their first Agile experiment. The designated team has
determined CBA Company'’s values, beliefs, and constraints, together with the board.

The team has set up a plan board and feels that it is working well. They have also broken
down the first few tasks into small deliverables.

They have compiled a list of outcomes and have started to work on their first tasks very
enthusiastically. As they start working on the first tasks, the team starts to feel a bit out of
control. They cannot agree on which tasks are most important and should happen first.

In setting up their first workflow, which question should the team ask itself to regain
control?

A) T/EmAILAZIN?
How small can the work items be made?
B) A& T{EaIiit?
How will the work be visualized?
C) IT{EFNBMIZEWPLE R IHIR?
Which feedback loops should there be for work content?
D) HIEEEMRBEE, WAEE?

Who will manage the list of outcomes, and how?

A) IR, BERANTERAEESANE, SARRRDES, BEAGG, XUFAZEEME. 12
2R TR FER/ NS4
Incorrect. Although large work items could become unclear and create a feeling of lack of
control, that does not seem to be the problem in this scenario. They have broken down the
work items into small deliverables.

B) fHiR. MIIEEIR 7 BINIMRAERITHRIR.

Incorrect. They have set up a plan board that they feel is working well.

0) iR, AIPHERAARENRERIR, MEEAERE LI FIAITER LRZAEI.
Incorrect. The confusion here does not stem from lack of feedback, but from lack of
ownership over prioritizing work items.

D) IEffs, RIZEFXMNIUREHFREAXT TIEBULCRAIFEN, NMEREIAGRZIEHIR0EE, (S8
A, 58E)

Correct. Answering this question will give someone ownership over prioritization of the work
items, which should solve the team’s lack of control. (Literature: A, Chapter 8)
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SIEEERRIRIL A, TR SRR TIERI KRR ER.

AFA?

In the first few months after a transition to Agile, visualization is a key element in helping
new teams understand the new workflows.

Why is that?

A)

B)

9]

D)

E)

A)

B)

9]

D)

E)

AN BENRASE R RIS, XEEITF &R,

Visualization is intended to show the new processes in pictograms, which helps to follow the
steps.

AR AR, FSENIC/EM RIS AR EBRYFTIE.

Visualization lifts spirits and helps people to remember mantras used to meditate on when
doing work.

AN ERZER TR BRI T T,

Visualization makes it easier to see if the work flows the way the new processes intend it to.
AT BRI R SR fE T BiR, BT EMIN TIFSE.

Visualization shows which team members are behind on their targets and helps correcting
their work ethics.

HEE R ESRAT A TREAR N IEA— AR TE ).

Visualization using pictures and posters helps remind people of how they should interact as a
team.

iR, EXANTELINEVRESSRDN, THEER, BILFRURREZEN T IRERHENTL
fEm. ERSBRSRIEIREHE,

Incorrect. Although visual reminders of new ways of work are helpful especially as graphics,
the reason work is shown visually is to track progress and flow. Using pictograms of the steps
is not helpful for this.

Hix. BUENMERAEENNE, BARNEREENLTS. FERREICEXRERN LKA,
Incorrect. Agile does not use mantras in a meditation context or to uplift spirits of the team. A
mantra is something that helps remember a key principle or practice.

IEffs, NR—EALBERMIF—B TR, MEZRIKEZL: B ITERSTANIER, T
{EIpEE TIERAMTRIN, SELIEISZE. (K@i A, $98)

Correct. When you consistently capture all the work in a visual manner, it becomes easy to
detect forms of imbalance: more items are getting started than finished, items are piling up
someplace along the workflow, or items are getting blocked. (Literature: A, Chapter 9)

HiR. ATHUARAT EERARR N ARISRL.

Incorrect. Visualization is not meant to measure the performance of individual team members.
Hix. BAGRER. SRMSESFTNNEEFRILIREANZMHA, BIFTRHERTIE
SMEHA TRk, MIARBARR NI RS,

Incorrect. Although the use of visual aids like pictures, posters and mantras serves as a
reminder of what people should do, the visualization of work shows how the work flows and
gets completed, not how the team members should interact.
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MTRBAREFBERER, HEEERA.

A% =f 3 [0 f 3
1 D 16 A
2 D 17 B
3 A 18 C
4 C 19 D
5 D 20 B
6 B 21 A
7 D 22 B
8 D 23 B
9 D 24 D
10 A 25 A
11 B 26 B
12 A 27 C
13 C 28 C
14 B 29 D
15 B 30 C
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